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1 A Brief Refresher

1.1 The Navier-Stokes equations

The velocity field of a fluid of density p, viscosity u satisfies the Navier—Stokes equations

Du Dp
- _ _ F 2 _- u=0 1.1
P Vp+F+uVia, 5+ pVu =0, (1.1)
where p is the pressure and F is a body force (i.e. a force that acts on the whole body,
not just at the surface; most often we shall have that F = pg, the force per unit volume

due to gravity). The material derivative

D 0

DV = [E + u'V} 0-
The first of the equations in (1.1) comes from a consideration of the conservation of mo-
mentum, whilst the second comes from the conservation of mass. A detailed derivation
is given in the appendix (and is not examinable).

If the typical flow speed is U, the length scale of the flow is L then a typical time

scale is L/U. We would like to non-dimensionalize (1.1) but we need to choose a relevant
pressure scale p*. If we continue regardless and scale the body force with p*/L then we

find that

Du p* 1,
— = - F)+ — 1.2
O pU2( Vp + )+ReVu (1.2)
where
UL
Re = pT (1.3)

is the Reynolds number and measures the relative importance of inertia and viscosity.
One way to see this is to write

Re = pU2 — p;(nertia
wU/L

*
Pyiscous

where p} . via = pU? is the important pressure scale when the left hand side of (1.2)
is important (i.e. when the inertia of the liquid is important) and p},,.,,.. = pU/L is
the important pressure scale when the u dependence on the right hand side of (1.2) is
important (i.e. when the viscosity of the liquid is important).
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Boundary conditions The Navier—-Stokes equations in general require two boundary
conditions to be applied either at a boundary either with another fluid (liquid or gas)
or with a solid. The first of these conditions is the no-slip boundary condition, which
states that the tangential component of the fluid’s velocity must be the same as that of
the boundary. Mathematically, this may be written

[uAn]t =0 (1.4)

where n is the normal to the boundary and the notation [f]* means “the change in
f(z) across the boundary”, i.e. [f]T = lime_,o[f(0 + €) — f(0 — €)] for a problem with a
boundary at x = 0.

The second boundary condition is the kinematic boundary condition, which states
that the normal velocity to any boundary must be continuous across that boundary, i.e.

[u-nf =o0. (1.5)

This is a direct consequence of the conservation of mass applied at a boundary.
When the boundary in question is a free surface, z = f(x,y,t), it is common to use
a corollary of the kinematic boundary condition that

w=fr+u-Vf, on z=f(z,y,t) (1.6)
or, equivalently, that
D(z—f)
Dt 0, (1.7)

i.e. that particles that start on the surface remain on the surface.

Some simplifications The dimensionless version of the Navier—Stokes equations,
(1.2), suggests that (1.2) may simplify considerably in the limits of Re < 1 and Re > 1.
We consider briefly these limits now.

1.1.1 Re < 1: Stokes flows
In the limit of Re < 1 we take p* = pU/L so that (1.2) becomes

V2u+F = Vp. (1.8)

Equation (1.8) is referred to as Stokes’ equation and flows that satisfy this equation
are known as Stokes flows.

1.1.2 Re > 1: Euler flows

In the limit of Re > 1 we take p* = pU? so that (1.2) becomes

Du
— =F — . 1.
De Vp (1.9)
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Equation (1.9) is referred to as Fuler’s equation and is covered in detail in the Part
A Fluid Dynamics €& Waves course. Note that in Euler flows, the no-slip condition
cannot be enforced (since the problem is only second order and hence can only have
one boundary condition). In reality, the neglect of the V?u/Re term leads to boundary
layers where the viscosity of the liquid is important; the no-slip boundary condition is
satisfied in the inner problem associated with the boundary layer.

1.1.3 The Boussinesq approximation

For some portions of this course we shall be interested in flows that are generated by
changes in buoyancy, for example in the convection generated by heating a fluid from
below. To simplify the analysis of such situations we shall make the following commonly
used assumptions:

1. Changes in density caused by the onset of motion are primarily the result of
temperature and composition (rather than pressure) changes.

2. In the equations expressing the conservation of momentum and mass, density
changes may be neglected except where they are coupled to the gravitational ac-
celeration in the buoyancy force.

Collectively, these assumptions are referred to as the Boussinesq approrimation. A
rational justification of these assumptions can be given in certain situations [see, for
example, E. A. Spiegel & G. Veronis, Astrophys. J. 131, 442 (1960)]. However, for the
purposes of this course we shall simply make this assumption. In particular, we note
that in this situation the conservation of mass simplifies to

Vu =0, (1.10)

i.e. we assume that the flow is incompressible.

1.1.4 Two-dimensional flows

For flows in two dimensions, it is possible to ensure that the incompressibility condition
(1.10) is automatically satisfied by expressing the velocity field u in terms of a stream-
function 1. The details of doing this depend on the exact geometry in hand. The most
useful cases are the following:

e Planar flows. In this case u = (u,v,0) and we let

_ oy oY

u-a—y, ’U——%.

o Azisymmetric flows: Cylindrical Polars. In this case u = (u,, ug,0) and we let

_ 1oy _ N
ur_r(?@’ e = or’
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o Azisymmetric flows: Spherical Polars. In this case u = (u,, ug,0) and we let

_ 1 oy 1 oy
ur_vasiné?&?’ vo = rsinf or’

The relevant form of the streamfunction can be substituted into the relevant limit
of (1.2), which may then be solved for the function v safe in the knowledge that the
velocity field that results from the solution will be divergence free by construction.

1.2 Other Conservation Laws

The Navier—Stokes equations consist of a mathematical description of the conservation of
mass and conservation of momentum, as we have already seen. In some of the situations
considered in this course we will want to describe the conservation of other quantities,
most notably the conservation of a solute (for example salt in sea water) or energy (for
example convection due to differences in temperature). The conservation of a solute
typically takes the form of the advection—diffusion equation for the concentration C(x,t)

DC 9

— =kcVC 1.11

D = fic (1.11)
for a solute diffusion coefficient ko. The conservation of energy may be complicated
by the presence of a heat source ¢ as well as the working of pressure forces in volume

changes and describes the evolution of the temperature field T'(x, t):

Py = —pV -u+ V- (kVT) + pq. (1.12)
where ¢, is the specific heat at constant volume. However, this too will frequently
reduce to an advection—diffusion equation (for Boussinesq flows with no internal heat
generation) and so we have

DT

2
V2T 1.13
Dt T ’ ( )

where kK = k/pc, is the thermal diffusivity.
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2 Surface Tension and Viscous
Flows

2.1 Surface tension

2.1.1 What is surface tension?

Liquids consist of molecules tightly packed together and interacting with one another
through an attractive force (this is why gases condense to form liquids when the molecules
are slowed down by cooling). A molecule in the bulk of a liquid is therefore ‘happy’ in the
sense that it feels these attractive interactions from all directions. A molecule at the lig-
uid surface, however, is ‘unhappy’ because it has attractive interactions with only half as
many neighbours as the bulk molecule. This unhappiness corresponds to an increase in
the potential energy of the system and is why liquids like to minimize their surface area
when free to do so. If the energy difference between the bulk and interfacial molecules
is U then having molecules of cross-sectional area a? at the interface (rather than in the
bulk) will cost U/a? per unit of the liquid’s surface area. For many liquids the attractive
interaction is caused by relatively weak van der Waals interaction and so we have that
U ~ kT — the thermal energy. At room temperature, kg7 ~ 4 x 10~2! J, and so for a
molecule with typical ‘radius’ 0.1 nm we find that this surface energy is v ~ 0.1 Nm~!.
For an air-water interface detailed measurements show that v = 72.8 mJm~2 at room
temperature. Other liquid—gas interfaces typically differ in the value of v a little: the
largest normal value is for an air-mercury interface, which has v = 485 mJm™2.

Figure 2.1: Thought experiment demonstrating that a surface energy -~ can also be
thought of as a surface ‘tension’. A rod is free to move on a wire frame that makes a
soap film. The decrease in surface energy 2ywdx is equivalent to the work done by a
force F' = 2vyw acting on the rod over a distance Jzx.
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Figure 2.2: A small element of surface.

Note that the units of the surface energy ~ are [y] = Jm=2 = Nm~!, which is also
the units used to measure tensions. To see that the surface energy ~ can also ‘pull’,
just like the tension in a string, consider the following thought experiment: a soap film
is formed within a rectangular frame with three rigid sides and one rigid rod that is
free to move (see figure 2.1). In this situation, the energy of the system is reduced by
moving the mobile rod. In moving a distance dx the surface energy of the system is
decreased by an amount 27 - dx - w where w is the width of the rectangle and the factor
2 arises because there are actually 2 liquid—gas interfaces in this scenario. Since energy
is conserved in this system, the work done on the rod is 0W = 2ywdéx = Fdz: ie. a
force F' = 2yw acts on the rod. There is thus a surface tension of magnitude ~ that acts
within the plane of the surface. How do we quantify its effect on the fluid below?

2.1.2 Stress conditions at a fluid-fluid interface

Consider an (arbitrarily small) section of an interfacial surface S bound by a closed
contour C' as shown in Figure 2.2. The force on S due to surface tension is exerted
around the boundary C' in a direction perpendicular to C' but tangent to the surface S
(call this direction v) and is of magnitude v per unit length.

Now consider a small volume element created by moving a distance (—¢, €) normal to S.
A force balance on this element gives

D
/p—udV:/de+/(t++t_) dS—i—/fyuds,
v Dt v s c

where

f is the body force
e u the fluid velocity
p the fluid density

t* the force per unit area that the upper (+) fluid exerts on the top surface
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e t~ the force per unit area that the lower (—) fluid exerts on the bottom surface.

Letting € — 0 the volume integrals scale like € and tend to zero. We conclude that the
surface forces must be in balance, and hence that:

0:/(t++t—) dS+/W ds.
S C

Now, if the stress tensor in the fluid is
T =—pl+p[Vu+ (Vu)'],
where p is the pressure and p is the viscosity, then the surface forces per unit area are
tt=n-TT, t T =—n-T,

where n is the unit upward normal to S (from — to +).

Defining ~ and n off surface by an extension which is invariant in the direction
perpendicular to the tangent plane, we find that Stokes Theorem (see Problem Sheet 1)
gives

[ wds = [ (99 =2V )] as

With 5
Vs =V — n%

denoting the surface gradient, and noting with the above definition of v and n off surface,
we have Vy = Vgyand V-n =V, -n and hence

/fyuds:/(vsfy—’yv-nn) ds.
C S

Thus

/(n-T+—n-T_) dS:/[y(V-n)n—Vﬂ] ds.
S S

Since the surface element S was arbitrary, the integrand must vanish identically, giving
the interface force balance equation

n- Tt —n-T =+(V-n)n- V. (2.1)

The left-hand side of this equation is the difference between the force per unit area
exerted on the interface by the upper and lower fluids. The first term on the right-hand
side is a normal force per unit area generated by the curvature of the surface (see next
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A

Figure 2.3: Setup diagram for the determination of the radius of curvature, a.

section). The second term on the right-hand side is a tangential force per unit area
associated with gradients in surface tension.

Equation (2.1) is a vector equation, which is often written in terms of its normal and
tangential components. Taking the inner product with n gives the normal force balance

n-T " n—n-T -n=~(V-n). (2.2)
Taking the inner product with any tangent vector t gives the tangential force balance

n-TH.t—n T -t=-Vgy-t. (2.3)

2.1.3 Curvature

Curvature in two dimensions The magnitude of the curvature of a 2D surface at a
point P is the reciprocal of the radius of the best fit circle to the surface at P. We seek
an expression for the curvature in terms of the unit normal at P. A detailed derivation
of the 2D result is given in the appendix (and is not examinable).

Defining the 2D surface by z = h(z), we first find the unit normal and unit tangent
vectors:

(=1, 1) (1,n)

Arm7 T )
Then the magnitude of the curvature at P is given by

1 hy
=0 __ _ _V.n,.
a (1 n h62)3/2 g
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More generally, the magnitude of the curvature at the point x is given by

' @) | g

and the curvature, k, is defined by
k=-V . n

Thus the curvature is positive if the centre of curvature lies above the surface and
negative if it is below (with the contrast between above and below determined by the
direction of the unit normal).

Curvature in three dimensions In three dimensions let z = h(z,y) denote a surface
and consider the point

(@p, Yp, h(@p, Yp))-
With zp,yp fixed and A constant the line
Y —yp = Mz — zp)
defines a two dimensional surface via
2= hz,yp + Az — 2p)).

Its curvature at * = x, can be found as above and varies with A\. The sum of the
maximum of these curvatures and the minimum of these curvatures defines the total
curvature, denoted k, at the point P. With the normal

1

Ve o)

V(z = h(z,y)),

n—

defined off-surface by an extension which is independent of the direction perpendicular
to the tangent plane, so that

haa(1+ B3) + hyy (1 + h2) — 2hphyhay
(1+ h2 + h2)3/2 ’

the total curvature is equal to

k=-V- -n.

We do not prove this statement here (see e.g. Weatherburn, C. E., 1961, Differential
Geometry of Three Dimensions, Vol. 1, C.U.P.).
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2.1.4 Capillary statics

We consider here static fluid configurations, for which u = 0. The stress tensor in the
fluid is then T = —p1, so that

n-T -n=—p, n-T-t=0.
The normal stress boundary condition is then
pT—p =k

There is a pressure jump across the interface which is balanced by the force due to
curvature. The tangential stress boundary condition is

0= -V,

Thus we see that there cannot be a static system in the presence of surface tension
gradients. Pressure jumps can sustain normal stress jumps across a fluid interface, but
they do not contribute to the tangential stress. Thus tangential surface stresses can only
be balanced by the viscous stresses associated with fluid motion.

Stationary bubble

Consider a spherical bubble of radius R submerged in a stationary fluid. The curvature
of the spherical interface is

10 ,, 2
—KZV'HZV'r:ﬁE(T ) :E
Thus the normal force balance gives
_ 27y
=
p p R

The pressure within the bubble, p~, is higher than that outside by an amount propor-
tional to the surface tension, and inversely proportional to bubble radius. Small bubbles
have a higher internal pressure, and are consequently louder than large bubbles when
they burst at a free surface: champagne is louder than beer.

Note that soap bubbles in air have two free surfaces (the inner and outer surfaces of the
soap film). Consequently the pressure difference between the inside and outside of the
bubble is twice that across a single interface.

Static meniscus

Consider a situation in which a heavy fluid such as water lies stationary below a much
lighter fluid such as air. The pressure in the air is constant, so that p* = pg say, but
the pressure in the water varies due to the presence of gravity, so that

P =po— P9z,
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Figure 2.4: A meniscus. The shared interface among the three phases of the solid, liquid
and gas is known as a contact line; here the contact line is perpendicular to the page and
is simply a point in the figure (the vertex of the arc subtended by ). More generally a
contact line refers to the shared interface of a solid and two different fluids.

where pg is constant, z is the vertical coordinate, and g = —gz is the gravitational
acceleration. The normal force balance on the interface now gives

pgz = VK. (2.4)

Equation (2.4) is known as the Laplace—Young equation.

Consider the planar meniscus that arises where the air-water interface meets the
wall of a container, as shown in Figure 2.4. If we define the free surface to be given by
z = h(z) then its curvature is

hfL’fL’

The Laplace—Young equation for the interface shape may therefore be written

hl‘l‘
pgh = i (2.6)

15 h2)irE
in this instance. Since this is a second-order differential equation we require two bound-
ary conditions for its solution. Requiring that h — 0 as * — oo provides one of these
conditions. However, we need another condition at z = 0. Based on experimental obser-
vations, we postulate that the angle between the air-water interface and the immersed
boundary is a constant that depends on the nature of the three phases (liquid, solid and
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gas) that meet at z = 0. This ‘contact angle’ # depends on the physics of the interaction
between the wall and the air and water (in particular on how easy it is for the water to
“wet” the wall). We will return to contact angles later, but for now we treat 6 as an
experimentally determined constant.

If 6 is close to 7/2, the slope of the meniscus remains small (h, < 1) and we can
linearise (2.6) to give

pgh = ez,
with the boundary conditions
h(o0) =0, hz(0) = —cot 6.
Thus
h =, cotfe /b (2.7)

where £, = \/7/pg is the capillary length. Thus the meniscus is a decaying exponential,
with a decay length of ¢.. For an air-water interface, . ~ 3 mm explaining why the
meniscus is only observed very close to the edge in a glass of water.

Floating bodies

Floating bodies are supported by a combination of buoyancy and surface tension forces.
Consider a two-dimensional non-wetting body. Then the pressure in the fluid is

P =Dpo— pgz
so that the pressure at the interface z = h(x) is
p = po — pgh.

Let n denote the unit inward normal to the body with the part of the body in contact
with the water labelled by S;. The part of the body in contact with the air is S, and
the contact line, C, is the wetting curve separating the air from the liquid on the body
(drawn out of the page in figure 2.5). Then the force on the body is

/pndS+/p0ndS+/7Vds = / pon dS — pghnd5+/ ykn dS
S1 So C S1US2 S1 S1

noting that Vyv = 0 as u = 0. Using the facts that pg is constant and that

/ndSzO
S

(which may be proved by applying the divergence theorem to the above integral after
dotting with an arbitrary constant vector), the force on the body simplifies to

—/ pghn dS+/ ykn dS.
Sl Sl
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Figure 2.5: The volumes displaced by a floating two-dimensional object: V} is the volume
displaced by the object itself, V,,, the volume displaced by the associated meniscus. Note
that the contact line C' is drawn coming out of the page.

Thus the vertical force balance is
Mg:z-/s (=pgh +~k)n dS = Iy + I,
1
say. The buoyancy force
Fy= —z-/s pghn dS = pgV,
1

is simply the weight of the fluid above the object and inside the line of tangency (see
figure 2.5).
The surface tension forces

Fc:z-/ vyrn dS,
St

may be re-written using the Laplace—Young equation on the free surface. First, by
Stokes theorem we have

/’mndS—i—/ ’yﬁndS:/ ’yuds:’y/ v ds.
51 53 Coo 9]

Here S3 is the free surface (with outward pointing normal n) and Cy, is an arbitrarily
large circular contour bounding the meniscus; we have used the fact v is constant as
the fluid is static. On Cy the fluid is essentially flat; the deviations of the unit normal
from z are exponentially small and thus convergence to flatness is sufficiently fast. Thus
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v = e, to within exponentially small errors in the distance from the body and hence
the above integral tends to zero as the distance from the body tends to infinity, giving

/ YK dS:—/ yxn dS.
St S3

z-/'yu ds:z-/ YK dS:—z-/ vykn dS,
C S1 S3

But on the free surface, S3, buoyancy and surface tension exactly balance and hence the
Laplace-Young equation holds, giving

Hence

pgh = k.
Thus
F.=-z / pghn dS = pgVp,
S3

where V,,, is the volume of fluid displaced above the meniscus outside the line of tangency.
Thus the total upward force on the body may be expressed as

pg(Vo + Vin).

This is the generalization of Archimedes’ principle to incorporate the vertical force from
surface tension. More details may be found in a paper by Keller, Phys. Fluids 10, 3009
(1998).

To consider the relative sizes of the contributions from the conventional Archimedes
force and that due to surface tension, we note that the meniscus will have a length
comparable to the capillary length /., so that

V;, ~ depth x R2, Vpn ~ depth x RC,,

where R is a typical lengthscale of the body. Thus the relative magnitude of buoyancy
and capillary forces is

F, R,

Fo
very small floating objects (R < ¢.) are principally supported by surface tension forces.
This explains why small, dense objects such as drawing pins are able to float at the
surface of water despite being many times denser than the water (see figure 2.6a) as well
as how small creatures are able to walk on the surface of liquids (figure 2.6b).

2.1.5 Marangoni flows

Marangoni flows are those driven by surface tension gradients. In general the surface
tension v depends on both the temperature, T, and the concentration, C, of interfacial
contaminants. As the temperature of a liquid increases, the surface tension coefficient
generally decreases. For an air-water interface, 7~ dy/ dT ~ —1/50K. Surface active
agents (‘surfactants’) contain a hydrophobic tail (non-polar) and a hydrophilic head
(polar) and so like to reside at the air-liquid interface. The presence of these surfactant
molecules decreases the surface tension coefficient.
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Figure 2.6: The large deformations produced by interfacial objects. (a) The vertical
component of surface tension is sufficient to balance the weight of objects much denser
than the underlying liquid, such as an upturned drawing pin floating on water. (b) Large
interfacial deformations allow creatures such as the fishing spider (Dolomedes triton) to
walk on water (image courtesy of Robert B. Suter of Vassar College).

Tears of wine

The tears of wine phenomenon was the first Marangoni flow to be considered (by Lord
Kelvin in 1885), and predates Marangoni’s first published work on the subject by a
decade.

Tears of wine can be easily observed in all but the weakest wines after swishing
the glass to establish a thin layer of fluid on the walls. Evaporation of alcohol occurs
everywhere along the free surface. The alcohol concentration in the thin layer is thus
reduced by comparison to the bulk due to the enhanced surface to volume ratio. Surface
tension decreases with alcohol concentration, so that the surface tension in the film is
higher than that in the bulk. The resulting surface tension gradient acts to drive fluid up
the film. The wine climbs until it reaches the top of the film, where it collects in a band
of fluid that thickens until eventually becoming unstable due to gravity and releasing
the tears of wine. The tears or ‘legs’ roll down to replenish the bulk reservoir, but with
fluid that is depleted with alcohol.

Surfactants

Surfactants alter both the normal (through the reduction of ) and tangential (through
the generation of marangoni forces) stress balances. The presence of surfactants will
act to supress any fluid motion characterised by a nonzero surface divergence. For
example, consider a fluid motion characterised by a radially divergent surface motion.
The expansion of the surface means that I' is reduced near the point of divergence,
increasing the surface tension there. The resulting Marangoni stresses act to reduce
the surface motion. Similarly if the flow is characterised by a radial convergence, the
resulting accumulation of surfactant in the region of convergence will decrease the surface
tension again generating marangoni forces which oppose the flow. This is one reason
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why soap films survive as long as they do: the divergent motions that would cause a pure
liquid film to rupture are suppressed by the surfactant layer on the soap film surface.

The ability of surfactant to suppress flows with non-zero surface divergence is behind
the phrase “pouring oil on troubled waters,” and is evident throughout nature. It was
remarked upon by Pliny the Elder, who rationalised that the absence of capillary waves
in the wake of ships is due to them stirring up surfactant. It is also responsible for the
“footprints of whales”. In the wake of whales one sees patches on the sea surface (of
characteristic width 5-10m) that are perfectly flat. These are generally acknowledged to
result from whales sweeping biomaterial to the surface with their tails; this biomaterial
acts as a surfactant to suppress capillary waves.

Effect of surfactants on bubble motion

Theoretical predictions for the rise speed of small bubbles do not adequately describe
experimental observations. Air bubbles rise at low Reynolds numbers at rates more
appropriate for rigid spheres with equivalent buoyancy in all but the most carefully
cleaned fluids. The discrepancy can be explained by considering the effect of surfactants.

The flow around a bubble diverges and converges at the leading and trailing surfaces
respectively. In the presence of surfactant contamination surfactants will accumulate at
the trailing edge, giving rise to a local decrease in surface tension. The resulting surface
tension gradient acts to resist surface motion, so that the bubble surface is more rigid.
The air bubble thus moves as if its surface were fixed, so that its rise rate is closer to
that of a rigid sphere: the no-slip boundary condition is more appropriate than free-slip.
The effect is more pronounced for small bubbles, since the Marangoni force scales as
A~/R, where R is the bubble radius.

Thermo-capillary bubble motion

Analogously to the ‘rigidification’ of the bubble’s surface described above, a bubble
placed in a temperature gradient can move because of the Marangoni stresses induced by
the temperature gradient. This was used by Young et al. (J. Fluid Mech. 6, 350 (1959))
to counteract the buoyancy-induced rise of a bubble. We now present a calculation that
quantifies this ‘thermo-capillary’ motion. For simplicity, we shall assume that the bubble
remains spherical as it moves, though in fact it is possible to show a posteriori that tho
is the case provided that the bubble motion occurs at low Reynolds number.

We imagine that the temperature field is imposed everywhere (including within the

bubble) to be
T=Te+Tx (2.8)

in the frame moving with the bubble. (Note that temperature field satisfies V2T = 0
and so relies on the convection of heat being negligible compared with its diffusion. We
are also implicitly assuming that the bubble and fluid have the same thermal conduc-
tivity.) We shall also assume that the relationship between surface tension coefficient
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and temperature is linear so that we may write the surface tension coefficient around
the droplet as

v=9 +v2="r ++acosé. (2.9)

We need to solve for the velocity field u = (u,, ug). Standard methods for Stokes flow
(see §3.3 of Ockendon & Ockendon, Viscous Flow, for example) show that the velocity
components are

1 oy 1 oY
= — = 2.10
Y 2sng 000 rsinf Or (2.10)
where the streamfunction 1 has the form
Y = (Ar* + Br* 4+ Cr + D/r)sin* 0 (2.11)

in the spherical geometry of interest here. The coefficients A, B,C and D are to be
determined by relevant boundary conditions. At » = a we use the fact that the normal
component of the fluid velocity must vanish on the sphere surface, i.e.

u(r=a)=0 (2.12)
and that the tangential shear stress is matched by that due to the temperature gradient

_ d [uy _ 1(9’)/_ .
Trop = HQ E <7) ‘r:a = —a% =7y sin 0. (213)

We also require that as » — oo the velocity field returns to a uniform flow in the
z-direction. This corresponds to

P~ —%T2 sin?6, r — oo. (2.14)

We therefore have immediately that A = 0 and B = —U/2. From the requirement that
ur(r = a) = 0 we find that

C+ D/a* =Ua/2, (2.15)

while the tangential stress condition gives

4D /2
20+ = = —Ua— 12 (2.16)
a H
Solving these equations, we find that
Ua 1+'a?
C=—+- (2.17)
2 6 u
and
1 /.4
D:—EW . (2.18)
1
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The quantity that is of most interest is, however, the drag force on the bubble. This
viscous drag is proportional to the coefficient C' of the Stokeslet term; this is because
it is this term alone that contributes to the momentum flux | goijn; dS through any
sphere in the liquid and o;; o< C/ r2. Now recall from Part B that for a rigid sphere
C = 3Ua/4 resulting in a drag force 6rpuUa. We therefore have here that

6rulUa [Ua 1+'a?
P b

47
= - = drpUa + —~'a?. 2.19
3Ua/a “ |2 "6 n } THUa T e (2.19)

To hold the bubble stationary we need to have U = 0 and F; = 47pa®g/3 and so require
a surface tension gradient

' = pag (2.20)

where p is the density of the liquid and g the acceleration due to gravity.

Finally we note that when a bubble is moving at its steady velocity and at low
Reynolds number, the normal stress difference across the bubble surface is constant and
equal to the pressure difference due to surface tension. Thus the difference in stresses
does not act to deform the bubble away from its spherical shape and our assumption of a
spherical bubble is justified. More details of this can be found in the book by Batchelor,
page 238.
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2.2 Thin Film Flows and the Lubrication Approximation

2.2.1 The lubrication approximation

Let us suppose we have a thin film of fluid with either a hard wall or a vacuum outside

it. The typical thickness of the thin film will be denoted by H and the typical length

over which variations in thickness occur will be L. We shall assume that 6 = H/L < 1.
We start with the incompressible Navier-Stokes equations

p(u;+u-Vu) = -Vp+pg+uViu,

V-u=0.

where g is the gravitational acceleration.
Working in Cartesian co-ordinates (z, z) we shall assume that gradients satisfy

0 0
— ~1/H>1/L~—
0z [H>1/ oz

and so incompressibility V - u = 0 gives us that the vertical velocity scale W is related
to the horizontal velocity scale U by

W ~ hU/L = oU.

We may then consider the size of the terms in the horizontal component of the equation
expressing conservation of momentum. We have

p(u-V)u~pU?/L, Vp~p/L, pV?u~pU/H?*[1+0(5%)].

It is therefore clear that inertia may be neglected provided that
— =< L (2.21)
I

Note that this condition involves the Reynolds number based on the film thickness
modified by an additional factor §. Note that this Reynolds number is often referred to
as the Reduced Reynolds number. Inertia may therefore be neglected because of the thin
geometry, even in situations where the gap Reynolds number itself is not that small.
We also see that the natural scale for pressure in these systems is p ~ uUL/H?.
Considering now the vertical component of the momentum equation, we have

plu-Vw ~ pUW/L ~ 6pU? /L, Vp~p/H ~pUL/H3, puNV*w ~ pdU/H? ~ §*°Vp

and so at leading order
9p

92 = —pg.z

so that the pressure is approximately hydrostatic. Furthermore, the flow is quasi-parallel
to the boundary — we can neglect the vertical velocity to leading order.
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We must also consider the boundary conditions to be applied to the velocity field.
At a fixed boundary we have the no slip condition

u=_0.
At a free boundary z = f(z,t) and we have the kinematic boundary condition
fi+ufy —w=0. (2.22)

We also have the stress balance equations (2.2), (2.3). The stress tensor is

( —p+ 2y p(us + wy) >

,Uf(uz + wx) —p+2pw,
while the normal and tangent to the surface are

(—fa, 1) (L fa)

TN (e e

and the curvature is

Jua
i+ f2772

Thus the full free-surface stress boundary conditions are

Y fex
(14 f2)3/2

2p

EARET?)

(foU’JB - f:v(uz + w;z:) + wz) = (2.23)

2fu(uy —wy) 4+ (f2 = 1)(us +wy) = 0. (2.24)

However, in keeping with our assumption that 6 = H/L < 1 and the consequences of
this assumption that we have already explored, we find that the second term on the
LHS of (2.23) is negligible and so (2.23) simplifies to

—p = Y frz- (2.25)

Similarly, (2.24) simplifies considerably to yield

ou
— =0. 2.26
0z (2.26)
We can derive an integrated version of conservation of mass which is applicable in
general. Let us suppose that the bottom surface is given by Z = k(z,t) and the top
surface is given by Z = h(x,t). A key point to note is that the kinematic condition
(2.22) also holds at a fixed surface (since hy = u =W =0 at a fixed surface).
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o [h h ou
v 7 S az _
— /k wd [ 90 A7 + ulh e — u(k, )k
h
ow
p— _— —_— Z J—
|97 47+ ulh e (k. 0k
= W(k,t) — W(h,t) +u(h,t)h, — u(k,t)k,
= ki—h

Thus, if we define the thickness of the film H and average velocity @ by

1 h
H=h-k, u:ﬁ/k wdZ,
then
Hi + (Hu), = 0. (2.27)

To complete the model we need to find an expression for the average velocity
in terms of H. The details of this depend on the problem being considered. We now
consider some examples.

2.2.2 Free surface flow down an inclined plane

Consider a thin film flowing down a plane inclined at an angle « to the horizontal. The
direction of gravity in coordinates tangential and normal to the plane is given by

g = (sina, — cos a).

The shape of the free surface z = h(x,t) is unknown and must be determined. The fluid
therefore lies between a fixed bottom surface z = 0 and a free top surface z = h. The
pressure is determined by the vertical component of the momentum equation

op
0z

subject to the boundary condition (2.25). We find that

= —pg Ccos o

p = —7Yhze + pg(h — z) cos a.
Substituting this expression into the horizontal momentum equation, we have

0? 0
M_u =9 _ pgsina = —vyhgz, + pgcos ah, — pgsin a. (2.28)
022 Ox

Now for non-zero o and sufficiently shallow flows h, < tana and so we may simplify
this to find
0u

Poa = —Yhgze — pgsin a. (2.29)
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We non-dimensionalize (2.29) using a velocity scale U and a length scale R to find

0%u 1 Bo
Y e — =i 2.30
022 Ca Ca s ( )
where
U
Ca= 22 (2.31)
v

measures the strength of viscous forces compared to capillary forces and is referred to

as the Capillary number while

pgR®
~

measures the relative strength of gravity to capillary forces and is referred to as the
Bond number.
Integrating (2.29) subject to u(0) = 0 and u.(h) = 0 we have

Bo =

(2.32)

—2h
u = —% (hgze + Bosina)
so that the thickness-averaged velocity is
h2
u= ﬁ (h;m::v + Bosin a) .
Substituting into (2.27) gives
h3
ht + ET (hyze + Bosina)| = 0. (2.33)

xT

2.2.3 Free surface flow on a horizontal plane

Let us consider now that a = 0 and that the fluid lies between a fixed bottom surface
Z =0 and a free top surface Z = h. Returning to (2.28) we see that our neglect of the
h; term in comparison to tan « is no longer justified and so we now write

9%u
N@ = —Yhgze + pgha,

which may be solved to give, in dimensionless form,

z(z — 2h)
=" —B
2Ca (hJ:J:J: o ha:)

and hence

7] —h2 h Bo h

u = 3Ca( zxx — DO x)
Finally, (2.27) gives

h3
h: + (hzzz —Bo hg)| =0. (2.34)

3Ca

xT
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2.2.4 Static solutions and the contact angle

Static meniscus against a vertical wall

See Fig. 2.4. Consider an infinite thin film of fluid which meets a vertical wall at x = 0,
with contact angle 6; the thin film approximation requires the contact angle with the
wall to be almost /2. Thus

™
5"

Suppose the height of the fluid at infinity is hg; noting that A, and h,., tend to zero at

hy(0) = —cotf ~ 0 —

infinity we have

//3
<—3éa (hzee — Bo /),,,))I: - 0
H - (7 Bo h) t 0
and hence howe — BO hy) = const. = 0,
3Ca "

using the condition at oo to set the integration constant to zero.

It is easy to see that the general solution is h = a + be®/tc + ce~*/t where ¢, =
v/1/Bo = (v/pg)*/? /R is the dimensionless capillary length. The condition at infinity
implies a = hg, b = 0, while the condition at the origin gives ¢ = £.0. Hence

h—ho = £, <f - 9) e~ /le,
2

which is of course the same as (2.7) when 6 is close to 7/2.

Finite fluid blob lying on a horizontal plate

Figure 2.7: The definition of the contact angle 6

Consider a static blob of fluid, of total cross sectional area A. At a point where the
film thickness goes to zero the contact angle is given. Thus if h(zg) = 0 then

hy (o) = £tand ~ +6.
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This assumes that the contact angle is small (otherwise the lubrication approximation
is violated near the contact line).

We suppose that the blob is symmetric about * = 0 and occupies the region
(—x0,x0), so that

h.(0) = 0, (2.35)
h(zg) = O, (2.36)
he(zo) = —0, (2.37)
/mhdx = é (2.38)
0 2

Then, as before,
h3
3Ca

Since this is the fluid flux the constant must be zero; alternatively, by symmetry odd
derivatives of h must be zero at x = 0 enforcing the constant to be zero. Thus

(hgzz —Bo hy) = const. =0,

hzez —Bo hy =0,
so that
h = a + bsinh(z/¢.) + ccosh(z/¢.),

where ¢, = y/1/Bo is the dimensionless capillary length, as before. Equation (2.35)
gives b = 0.
Then (2.36) and (2.37) give

a + ccosh(zg/l.) =0, w =0,
so that
O a = 6. coth(zg/l.)
~ sinh(zo/f)’ e 0/ el

Finally x( is related to the cross sectional area A by

A o
3 = / [a + ccosh(z/L.)] dx = axg + clesinh(xo/L,)
0
002 [% coth(zo/6.) — 1] .

As (ycoth(y) — 1) is monotonic increasing and attains all positive values for y > 0, we
have that for any mass of fluid M there is a unique value xg, which gives the width of
the blob.
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Thin film equation

Static meniscus

Figure 2.8: Dip coating

The Landau—Levich equation

Consider now drawing a sheet at a constant speed out of a bath of fluid. This is a simple
model of typical industrial coating processes. The main quantity of interest is the final
thickness of the fluid film as a function of the withdrawal speed U.

We could redo our thin film analysis replacing the zero velocity no slip boundary
condition with the condition w = U on z = (0. However, we can avoid this by observing
that in coordinates moving with the wall our previous equation holds. We proceed as
follows:

1.

2.

We take equation (2.33) and impose o« = /2 and z — —x to give

h3
h —— (hyze — B =0.

We use the plate velocity U as the non-dimensionalization velocity scale so that
the plate velocity is unity in the non-dimensional equations. We jump to the
travelling coordinate system

T=x—t t=t h(z1) = h(zt).

In this frame we have zero velocity conditions on the plate z = 0 while the free
surface conditions are unaffected, as we are still working in an inertial frame (and
thus the force balances dictating the surface boundary conditions are the same).
Hence, we can apply the above equation in this travelling coordinate system to
find that
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Transforming back to the laboratory frame we have that

h3
_— — B =
he + hy + [3Ca (haza o)] ) 0

3. Following convention that horizontal directions are represented by = and vertical
directions by z, we change the coordinate system (x,z) — (z,z) and thus we have
3

h
ht + hz + [ﬁ (hzzz — BO):|2 =0

as the final equation.

2.3.1 The steady state problem

Now suppose that the drag out settles down to a steady state. Then

h3
— —B =0. 2.
h. + [ aois (e 0)] =0 (2.39)

An obvious scaling for the thickness of the fluid film is obtained by balancing gravity
and viscosity, corresponding to choosing the scales so that Bo/Ca = O(1). This gives

pgH?
nU ’
so that 1o
U
()
P9
say.

However, we will see that this is not the correct scaling in the case that the capillary
number Ca < 1. We will develop a solution through the method of matched asymptotic
expansions for the case Ca < 1. This solution will contain two regions: a thin film
on the wall in which viscosity balances surface tension, and a static meniscus region in
which surface tension balances gravity (see Figure 2.8).

2.3.2 The steady state drag out problem for Ca < 1.
Static meniscus, Ca < 1.

When Ca <« 1, the fluid will adopt the shape of a static meniscus in which gravity and
surface tension balance on the outer scale away from the wall. In particular the free
surface condition shows that the velocity field does not contribute to the leading order
dynamics and thus we have a hydrostatic problem at leading order.

We therefore use the Laplace—Young equation to describe the shape of the outer
meniscus. (Note that we cannot use the general thin film equation here because our
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Thin film equation

Static meniscus

Figure 2.9: Meniscus region

assumption of small slopes is violated in this capillary static region.) On taking our
non-dimensionalization into account, the Laplace—Young equation (2.4) takes the form

k = Bof,

where z = f(z) is the height of the film. For the free surface to match with the thin
film region the meniscus, as given by this equation, must be tangential at the point of
contact.

Choosing the non-dimensionalization length scale R to enforce Bo = 1 (which is
equivalent to choosing R to be the capillary length) gives k = f. Instead of writing the
height of the film as z = f(z), let us write it as = H(z). Then the Laplace-Young
equation is

K=z,

or,

HZZ
(1+ H2)3/2
noting that the interpretation of curvature as the inverse radius of the best fit circle

applies equally to a surface expressed in the form z = f(x) or in the form = = H(z).
See Fig. 2.9. The boundary conditions for equation (2.40) are

=z (2.40)

H(z) = 0, (2.41)
H'(z) = 0, (2.42)

H— o, H,— -0 as z — 0, (2.43)
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where zj is the height of the (apparent) contact point above the free surface.

Integrating once gives

H, _z2+A_z2—zg
(1+H2)Y2 2 o2 7
after using (2.42). Rearranging gives
I 2?2 — 22
z 4_(22 22)2]1/2.
As z — 0 we find
%
H~———.
BT

Applying (2.43) we see that we must choose zg = v/2. This is now enough for us to
determine the local behaviour near z = 2y, which is what we need for matching with (as
yet undetermined) behaviour in the thin film region. Equation (2.40) gives

sz(zO) =20 = \/5

Using the fact we now know H(zp), H.(20), H.2(z0), we have

(z — 20)?

H ~ ,
V2

(2.44)

as z — 2p.

Scaling of the wall region, Ca < 1.

As z — zp the fluid forms a thin film on the wall. Let us determine the scaling of the
thickness of this film, and the vertical extent of the “turn around” region where the thin
film equation holds.

Rewriting (2.39) after recalling that Bo = 1 by our choice of non-dimensionalisation
lengthscale, we have

h3
ho4 [ (h,.. —1)] =o0. 2.45
+ (365 1) (2.45)

We are interested in the behaviour as we approach the point zy and so we pose a
rescaling of vertical length near zy by setting z = zg + €z. (For the moment € is not
determined but we shall see that there is a natural choice.) Then, by (2.44),

h~ 232

and we thus we set h = ¢2h. On substituting these expressions into (2.45) we find that

- eSh3 -
hg + [@ (hggg — 6):| ) =0.
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We can now determine the value of € for a sensible balance of terms. For Ca < 1,
surface tension is important in the dynamics, so we take

e=Cal? <« 1.
This gives the thin film equation
_ R
hz + [3 (hzzz - 6)} =0, (2.46)
z

demonstrating that gravity is unimportant in the thin film region at leading order.

Solution in the wall region, Ca < 1.

At leading order in (2.46) we have
_ h3 -
hs + <_hzzz> = 0. (2.47)

The solution of (2.47) needs to match with the meniscus region (2.44) as well as to a
constant (undetermined) film thickness far up the wall. We therefore have the boundary
conditions

>

— hg as z — oo, (2.48)

22
~ —=asz— —oQ, (2.49)

V2
where hg is to be determined. Integrating (2.47) once gives
ngg = FLO, (250)

by the condition at infinity. To examine the behaviour as Z — +o00, we linearize by
setting h = hg + f with f < 1. We find

hg
- Jzz2 =0,
fly
which has solution
f=a.exp [—31/32/%] + by exp [31/36”/32/50} + ¢y exXp [31/367”‘—/32/FL0] .

Since the real part of the exponent is positive in the exponentials multiplying b, and c,,
we must have b, = ¢, = 0 in order to satisfy the boundary condition at infinity.

As Z — —oo0, we linearise (2.50) by setting h = 22/v/2 + f with |f| < 22 and find

fZZZN [_6 _6\/§hO] N_6

z4 Z6
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with solution 1
fr~azl+bz+c+ -,
z

Since |f| < 22 we must have a = 0, but b and c are arbitrary.

Finally, equation (2.47) is translation invariant. Fixing the origin removes a degree
of freedom; in fact, this is equivalent to fixing the coefficient a, (as explicitly illustrated
below).

Thus with the origin fixed, the boundary conditions contain two degrees of freedom,
b and ¢, in the above. A final degree of freedom is in the choice of hg and we have a third
order differential equation. Thus we would expect (2.47) with the boundary conditions
(2.48), (2.49) to have a solution only for a specific choice of hg, and this indeed turns
out to be the case.

If we rescale (2.50) by writing h = hog, Z = ho( then we are seeking a solution to

3

g+%g’” = 1, (2.51)

g ~ 1+e37C  as¢ = oo, (2.52)
ho
VG

where we have set the coefficient a, to unity by utilising the translational freedom to
change the origin.

¢2 as ( — —o0, (2.53)

"

Note that solutions of (2.51) with ¢ — oo will satisfy ¢ — 0, i.e. ¢ < ¢?. Nu-
merically shooting from infinity we find that the solution to (2.51), subject to (2.52),
satisfies

g~ 0.67¢2 as ( — —oo.

Thus ho = 0.67v2 ~ 0.948 and hy ~ 0.948Ca?/3. Redimensionalising we see that the
dimensional film thickness is

U\ 2/3 1/2 2/3772/3
o] pg vHopl/2gl/
We note that the dimensional height satisfies
1/6 1/2
0.948 <ﬂ> <ﬂ> ~ Cal/%q,
v Py

so that the film is much thinner in the limit Ca — 0 than the thickness d, which we
obtained initial by naively balancing viscosity and gravity in §2.3.1.
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Figure 2.10: The solution close to the wall.

2.4 Moving contact lines

2.4.1 The problem

We saw in Section 2.2.4 that a blob of fluid will sit in equilibrium on a substrate with
the final shape depending on the contact angle.

We would like to be able to model the evolution of such a configuration, that is, given
an initial finite blob of fluid, can we model it as it spreads to find this final shape.

One might think that we could do this by simply applying the boundary conditions
h =0, h, = 0O,

at the unknown boundary of the fluid blob (as well as requiring that there is no mass loss
at the interface). However, such boundary conditions are not compatible with equation
(2.34): they do not allow the contact line to move, as we will now show.

Let us suppose that the boundary of the fluid is located at = s(t). Then, if we
zoom in on the interface by setting z = s(t) + £ with £ small then locally h ~ ©¢.
Setting h = ©¢ + f, with £ < 1, |f| < ©¢ and keeping only the leading and next to
leading terms gives

0'e® = 0(f?).

) ) e3¢3 o3 3 Bo
Jt—$8fc =50+ [ 30 e — 3, Bol¢ f)EL ~Ca
For £ < 1, f < ©&, this simplifies to give

. 03¢3 .
ft — sfg + [ 3C€i fggg}g = $0.
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Attempting to neglect the higher spatial derivatives gives the hyperbolic equation f; —
5fe = 30, with f = 0 at £ = 0, which has solution f = —©¢; this is incompatible with
|f| < ©¢, as is

ft — 5fc = 50.
Hence, we must have that the higher spatial derivative term and $© are of the same
order: o3¢3
£ .
s ~ 50
and thus
3Ca $
Jeee ~ Gagz
i.e.
3Ca 3Ca $
f~ o7 (§log€ — &) ~ Vflogf- (2.54)

However, f is supposed to be much smaller than h, and h ~ ©§ % O({log&). We
conclude that balancing surface tension on the left with the dominant term on the right
is inconsistent.

Supposing that it is the gravity term on the left of the above equation that balances
the dominant term on the right we have that

3Ca $

fe~ ~poezer

which is even more singular.

Having both terms on the left at a higher order of magnitude with significant cancel-
lation is even more singular. Hence, we have that we cannot find a consistent solution
local to the moving contact line.

The difficulty does not lie in our attempt to use thin film theory or even inadequate
mathematics; it is a fundamental physical difficulty. The non-slip boundary condition on
the one hand, and the free surface boundary condition on the other, involve very different
physics. It is perhaps no surprise that very near a moving contact line, where the
influences of both the solid-fluid interface and the free surface interface are both present,
the fundamental physics underlying the Navier-Stokes boundary conditions needs to be
captured; fortunately, it nonetheless appears that continuum mechanics is still valid in
this region. We will only look at very special cases of the additional physics considered
in attempts to resolve this cutting edge problem; (see Ralston et. al. Annu. Rev. Mater.
Res. 2008. for a comprehensive and non-partisan review).

2.4.2 Precursor film

A simple way of introducing the additional physics required for a well defined model of a
moving contact line is to postulate that the unwetted portion of the boundary actually
has a very thin layer of fluid covering it. For instance during the oscillatory motion of



C5.7 Topics in Fluid Mechanics 2-29

a moving contact line, it is reasonable to hypothesis a thin film remains covering the
substrate; providing it is legitimate to treat the thin film in the context of continuum
mechanics then the fluid dynamical equations can be solved everywhere, and the problem
of a contact line has been removed.

2.4.3 Slip

Another hypothesis for the physics required to treat the moving contact line is to allow
a small amount of slip between the substrate and the fluid. Rather than imposing u = 0
on z = ( a slip law relating horizontal velocity to the shear stress is postulated, such as

u = Au,. (2.55)

Using this law the thin film equation becomes (see exercises)

1 [/h3 9

Now, on expanding locally, there is a dominant balance
)\@2§2f§§§ ~ Ca S@g,

so that Ca £
a s
~ lo
Ca s
f ~Y
O
for small £, and it is possible to impose a contact angle ®. However, for small values
of A, there is a boundary layer near the contact line, and the local value of the contact
angle is not the same as the one that the outer solution sees.

£ log & < O,

2.4.4 Tanner’s law

Often, in addition to a regularisation such as slip, a fixed contact angle is not imposed
but a relationship between the velocity of the contact line and the contact angle is
postulated.

Tanner’s law! is one such commonly used relationship between the contact angle and
the velocity of the boundary and has often been observed to hold in specific contexts.
It states

v=K (93 — @3) ,

where v is the normal velocity of the boundary, 6 is the actual contact angle, and © is
the static contact angle. In the thin film approximation this becomes

v=K (-h}-0%).

1Sometimes also referred to as the Cox—Voinov law, see, for example, Snoeijer and Andreotti, Annu.
Rev. Fluid Mech. 45, 269 (2013).
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Tanner’s law gives a natural velocity scale
U=K.

Using this scale in the nondimensionalisation of the thin film equation, the nondimen-
sional version of Tanner’s law is simply

v=—h3— 03,
and the motion will be quasistatic if

Ca=12 =2 <.
Y Y

Again the large influence of surface tension dominates the equations giving a hydrostatic
balance at leading orders.

2.4.5 Quasistatic evolution with Ca < 1, Bo« 1

Even when using Tanner’s law in the full time dependent problem it is still necessary to
allow some slip to avoid a contact line singularity. However, we have seen that the law of
motion of the contact line will contain a natural velocity scale, and if this is slower than
the scale obtained by balancing viscosity with surface tension (i.e. the scale obtained
by setting Ca = 1) then the fluid may move quasi-statically: for a given contact line we
solve the steady version of (2.34), which will have a certain contact angle. The contact
line then moves with a speed determined by this contact angle. In the quasi-static case
there is no problem with stress singularities, and we do not need to include slip.

Thus, for symmetric quasi-static drop spreading using Tanner’s law and the length-
scale chosen so that Bo <« 1 we need to solve

h3
——hgzw| = O, 2.57
[3Ca ]m ( )
with
h(s) = 0,
§ = —hd—-03 (2.58)

at the contact line x = s(t), together with a global mass balance equation

/ h dx = A.

We find that

where 0 = —h,(s).
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Figure 2.11: Drop spreading

(Note that the choice of Bo < 1 corresponds to a drop that is small compared to the
capillary length ¢.. The above result can be reconciled with the result derived in §2.2.4
by considering the s(t) < ¢, limit of the results discussed there.)

Imposing the total mass constraint gives

A= 2032 (2.59)

Tanner’s law (2.58) then gives the evolution equation for s as

s=0-03="-_03 (2.60)

This represents an ordinary differential equation for the evolution of the contact line
position s(t) given an initial condition s(0) = sg. Clearly there is an equilibrium value
of s, So0, for which § = 0.

2.4.6 Evaporating drops and coffee stains. Ca < 1, Bo <« 1.

Why is it that when split coffee dries the stain always has a dark rim? In this section
we will try and answer this question.

Suppose (not unreasonably) that we have a drop which is slowly evaporating, so that
the motion is quasi-static. If the evaporation is slow by comparison to the motion of the
contact line, then the drop will move through a sequence of steady state profiles, given
by the steady state version of (2.34) as in Section 2.2.4.

Now though, because of evaporation, the mass of fluid is not constant but decreasing.
Suppose that the rate of evaporation is uniform across the surface of the blob (in practice
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there will be more evaporation from the edges that from the centre). Then the mass
balance equation becomes
d S

— | hde=- EQ+h)"? de~— | E dz=-2sE,

where F is the evaporation rate and the thin film approximation h, < 1 has been
invoked. Since the motion is quasi-static, ' determines the timescale for the evolution

of the drop; using a velocity scaling based on E we can therefore set £ = 1 in the
non-dimensional equations, which we do henceforth.

For the sake of simplicity let us assume that Bo < 1, so that gravity is negligible. The
steady solution for a drop of length 2s then emerges from the equation (h3h,e/3Ca), =
0; integrating and noting that h = 0 at x = +s to set the constant of integration equal
to zero, one has hg;, = 0. For simplicity, we shall also assume that the contact angle
0 = O, the equilibrium value and hence is constant: the dynamics is driven solely by
evaporation. Using symmetry and the boundary conditions at +s, including setting the
contact angle h, = +0 at x = Fs gives

h= 2%(32 —2?). (2.61)

Thus, if we allow s to vary slowly, the mass loss is

s 3\ 78 9 .
_9g — d b de — d e 2, _ d (20s _ 4@58’
&), dt | 2s A I TAE 3

so that

and the length of the drop shrinks linearly to zero.
Let us examine the flow of liquid during this shrinking. The full evolution equation
for the flow (incorporating a sink due to evaporation) is

1
hi + (hii), = h —h3heee | = —1.
o (b, =t (b )
Expanding
1
h~hy+Cahy+---, q:§h2hm~qo+caq1+---,

we have the quasi-static solution at leading order
h
3
which leads to the solution (2.61). At first order we find

hOQO = hO,mmm = 0,
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Figure 2.12: Evaporation of a film with a fixed contact angle. Since mass is lost uniformly
from the surface, but there is more mass difference between the profiles near the contact
line, fluid must flow from the edge to the centre.

hot + (hoq1), = —1,

since the hiqo term disappears. The flow field is given by @ ~ ¢o/Ca + ¢1 ~ g1 without
a need to determine the correction to the height h;. Using the leading order profile in
(2.61) we have
. 022,
(h(](_h)x =—-1-— h(]’t =—-1- 55 — 5;8

Recalling that

we have

where we have used the fact that, by symmetry, 4(0) = 0. This means that the flow is
inwards from the contact line to the centre; we should expect that a dark spot in the
middle of a coffee stain. This is the opposite of what is observed in ‘experiments’. How
do we resolve this discrepancy?
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12}

Figure 2.13: Evaporation of a film with a pinned contact line. Since mass is lost uni-
formly from the surface, but there is less mass difference between the profiles near the
contact line, fluid must flow from the centre to the edge.

Advancing and receding contact angles

It is often observed that the advancing contact angle is different from the receding
contact angle, so that the motion of the contact line might be described by

~Kgr(0% — 0%, 6<0p,
v =40, Or <6 <04, (2.62)
KA(0®—63), 64 <0.

This is what is happening in the coffee case. When the stain evaporates the contact
angle first changes gradually from the advancing to the receding contact angle before
the contact line finally recedes. Thus there is a significant time during which the contact
line is pinned.

We can redo the analysis of the previous section with a given contact length, with a
pinned contact line and varying contact angle (see Problem Sheet 3). Now the quasi-
steady solution is of the form

3A(t

) 2 2
h = 1 (s —x%),

where s is independent of time. Note that since the position of the contact line is fixed,
the contact angle § must change as A(t) changes. This does not give a contradiction
provided that the resulting value of § = —3A(t)/2s? lies in the the range of contact
angles for which the contact line is pinned, see (2.62).
Then, with a use of the thin film approximation and a velocity scaling such that the
dimensionless evaporation rate is unity, mass conservation gives
d [° .

—2s=— [ hdz=A
S a ). x
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One can show that the mean velocity is now given by

- 2sx
uyp = 3—A
and the flow is outward towards the contact line, carrying dissolved coffee to the rim
of the drop where it is deposited as the liquid evaporates. This is what is observed
experimentally.

A more detailed model of this problem (incorporating non-uniform evaporation rates)
was presented by R. D. Deegan et al., Nature 389, 827 (1998).
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3 Flow in Porous Media

3.1 The basics: Darcy’s law

In B.6.a you saw that the flow within a porous medium may be modelled by Darcy’s
law

k .
u= —;(Verpg &) (3.1)

for some constant k (called the permeability). This is to be solved along with the
incompressibility of the liquid, i.e.
V-u=0

and with the boundary condition that the normal liquid velocity should be continuous

at rigid boundaries, i.e.
[u-n]t =0,

or that the pressure, p, be given at free surfaces.
It is useful to note that when the density of the liquid in question does not vary
spatially then we may rewrite (3.1) as

u= —%V(p + pgz). (3.2)

To a certain extent, (3.1) is a phenomenological law that satisfies two basic require-
ments: (i) flows are driven by pressure gradients (from high pressure to low) and (ii)
the flow speed for a given pressure gradient decreases with increasing liquid viscosity
. For small Reynolds number flows this law is found to be in good agreement with
experimental data. Here, however, we shall present a plausible derivation of Darcy’s law
based on the technique of homogenization — averaging the behaviour at the micro-scale
to obtain a law applicable at the macro-scale.

3.1.1 Homogenization

We begin from the Navier—Stokes equations for an incompressible Newtonian fluid of
constant density p sitting within a rigid porous medium. We have that

puVu=—-Vp+uV?u, V.-u=0, (3.3)

which must be solved subject to the no-slip boundary condition on the surface, S, of
the porous medium, i.e.

u=0, xeb. (3.4)
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Qualitatively, we expect that the pressure gradient will be imposed on a relatively
long length scale, L, while the dominant length scale for dissipation in (3.3) is the size
of the pores r,, where we require that ¢ = r,/L <« 1. We therefore expect that the
pore scale flow will be governed by Stokes equations (i.e. inertia is negligible) so that
the scaling form of (3.3) gives an estimate for the typical flow speed U induced by a
pressure scale P:

TIQ)P

U~ —.

P uU
L 2

We use the scales P, U and 7, to non-dimensionalize the momentum equation in (3.3)
and find that

Re u-Vu = —¢ 'Vp + V?u (3.5)

where
prf)P

112
is the pore scale Reynolds number (i.e. the Reynolds number based on the pore length
scale 7, rather than the macroscopic length scale L). In what follows, we shall assume
that Re < O(e) so that the inertial term in (3.5) can be neglected.

To make progress we shall assume that the porous matrix is periodic on the pore
scale r, though, in principle, we allow the structure to change on the macroscopic length
scale L. We shall assume that the periodic cell is a rectangular box, V, with typical
dimension O(ry,). We shall therefore require u and p to be periodic on the scale of a
few cells, although again they may vary on the longer scale L. To capture these two
different length scales, we shall introduce the variables

Re =¢

X, X =e€x

and allow all of our state variable (velocity, pressure, etc.) to be functions of both x and
X. We expect to see variations in these variables both on the microscopic scale and on
the macroscopic scale. We then pose power series expansions for u and p:

u=u? + cuV + €2 @) + ...
and
p=p9 +epM +2p® 4
with the u®) and p@) all being functions of both x and X. At the two highest orders in

e, i.e. O(e71) and O(€°), the momentum equation (3.5) gives

op® apt) op®) )

=0 = — Viu® 3.6
ox 0 Tex X Tt (3.6)
respectively. (Here we use the notation 9/9x to denote the gradient with respect to the
coordinate system x.) Similarly, incompressibility gives

Ve -u® = 0, V- u) = —vx -u®, (3.7)
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We note that the equations (3.6) and (3.7) are only linear because of our assumption that
Re < O(e). Nonlinear effects will enter at O(€?) in the present analysis — fortunately,
we do not need to go this far.

Now, (3.6)a may be integrated once to show that

P = pO(X).

Since (3.6)b and (3.7)a are linear equations, we can write u(®) and p(!) as a matrix
multiple of and dot product with 9p(® /O0X, respectively. For simplicity we do this using
the summation convention

(0) 9p®
0 _ 4 9P 1) _ _ 4.9
w= gy P 4o,

+ pM(X). (3.8)

Substituting the solution form (3.8) into (3.6) and (3.7) we obtain equations for K;; and
A;, which can in principle be solved for a given pore geometry (see, for example, Lee et
al., Int. J. Heat Mass Transfer 39, 661 (1995)). However, for our purposes it is enough
to stick to the form given in (3.8) and consider averages over the periodic cell volume
V. To do this we introduce the average over a cell

1

<f>=m v

fav (3.9)

where V is the volume of fluid within the cell V. Since the functions p@ and pM) are
functions of the large scale only (and not the pore scale) we immediately have that

op(® op(®
) = ~(Ki) G 00 =~ ()G + o (3.10)

where ¢ = V;/V is the porosity of the medium — the fraction of the unit cell that is

filled by voids and hence by fluid. We note that (3.10) already has the form of Darcy’s

law. The final check that needs to be performed is the averaging of (3.7)b, which gives
1 1

Oy = - — a® - 1. = A1
V- (u'") v va u’/ dV V] Su ndS=0 (3.11)

where we have used the Divergence theorem and the boundary condition that the bound-
ary of the fluid domain, 0Vy = S, is the wetted solid matrix on which the no-slip
condition gives us that u = 0.

In this course we shall only be concerned with homogeneous, isotropic media so that
(K;j) = Ké;; where K is a constant. In this case the leading order equation becomes a
dimensionless version of Darcy’s law

u=—-KVp (3.12)

with
0=V -u=-KV%
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where we have dropped superscripts (since we are only interested in the leading order
behaviour) and averages (since we are only interested in the behaviour on the macro-
scopic scale). We see immediately that the behaviour is determined entirely by the
pressure, which in turn is given by the solution of Laplace’s equation. For completeness
we rewrite (3.12) in dimensional terms:

u= —ﬁVp (3.13)
W

where the permeability k& = r2K. Equation (3.13) is precisely the form of (3.1) once
the effect of a uniform gravitational field has been taken into account. We also note
that the permeability &k scales with the square of the typical pore size, 1, — a relatively
sensitive dependence, as is observed experimentally.

It is important to note that the velocity given by (3.13) is actually the average fluid
velocity over the periodic cell volume V. This velocity is referred to as the Darcy velocity
and is not equal to the average fluid velocity within the pores, which is given by u/¢
— the average fluid velocity must be larger than the Darcy velocity since it has to give
the appearance of a fluid flux over a larger volume than it has available to it.

3.1.2 Example: Flow focusing

Consider a porous medium which has uniform, isotropic permeability k everywhere
except within a cylindrical inclusion of radius a in which the permeability is k’. Imagine
that far from the cylindrical inclusion a uniform flow U = u%X occurs. We would like to
quantify the influence of the inclusion on the flow-field.

Since the problem is steady, there is no gravity and the velocity field is given by
Darcy’s law (3.1) subject to incompressibility V - u = 0 we have that the pressure field
p must satisfy Laplace’s equation

V3p =0.

This problem is very familiar from the potential flow problems considered in Part A Fluid
Dynamics & Waves: here the pressure p is playing the role of the velocity potential ¢ in
that course. Indeed, since u = V(—kp/u) the effective velocity potential is ¢ = —kp/p.

Far from the cylindrical inclusion we require that ¢ = —kp/u ~ Uz while at the
boundary of the inclusion we must have that the pressure and normal velocity are
continuous, i.e.

at

Pt =0, Vgl =0 —

a

9¢
or

_ 9
+_(97’ —

r=a

r=a

The relevant solutions of Laplace’s equation have the form
¢ =—kp/u=(Ar+ B/r)cosf

with the cos 6 term arising because of the condition at oco. The coefficients A and B will
depend on whether we are in the region r > a or r < a. We therefore introduce A., B
and A, B~ to be used when r < @ and r > a, respectively.
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(a) (b)

Z2TTTN
/ \
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Figure 3.1: Streamlines for the effect on uniform flow in a porous medium (permeability
k) of a cylindrical inclusion with permeability &’. (a) A relatively impermeable inclusion,
K /k = 0.1, diverts the flow. (b) A relatively permeable inclusion, k’/k = 10, demon-
strates the phenomenon of flow focussing, which plays a role in a number of instabilities
in porous media.

For r > a we must have A5 = U to match the condition at r = oo while for r < a
we must have B = 0 to avoid a divergence in the velocity field as r — 0. We therefore
have from the continuity of pressure boundary condition that

k
Ua+B>/a:A<ay

while the continuity of normal velocity requires that
U-Bs/a*=A_.
Solving these equations simultaneously, we find that

!
Uszkk,T’COS 0, r<a

U <7° N (3.14)

¢:—mm:{

42
ij,%) cosf, r>a.

Note that in the limit k¥ = k’, i.e. the inclusion has the same permeability as the
medium, the result reduces to ¢ = Ur cos 6 everywhere as should be expected. If ¥’ /k <
1, so that the inclusion is effectively impermeable, then we recover the classic result for
potential flow past a rigid cylinder.

By plotting the streamlines of these flows in the cases k > k' and k < k' we see
that the inclusion either ‘focuses’ the flow (if ¥ > k) or diverts it (if & > k') — see
figure 3.1. This is an important mechanism for instability within soluble porous media
since if the medium is dissolved by, for example, acid, it becomes more permeable and
hence more acid flows through that region dissolving yet more porous medium. This
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instability has been studied by numerous authors (see, for example, Hinch & Bhatt, J.
Fluid Mech. 212, 279, 1990). Flow focusing can also be useful because the Reynolds
number increases locally, potentially facilitating the mixing of two components.

3.2 Thermal convection

Convection is a problem of interest in a wide range of applications from understanding
the convection that happens within the Earth’s mantle to how geothermal heating (or
radioactive waste!) can drive flows within saturated rock.

For simplicity, we shall assume a linear relationship between the density p of the
liquid and temperature T,

p=poll—B(T-Tp)], (3.15)

where pg and T are a reference density and temperature, respectively. The constant
B is the coefficient of thermal expansion: we expect that the density decreases as the
temperature increases and so expect that 5 > 0.

In this section we shall make wide ranging use of the Boussinesq approximation (that
variations in density are only important where they appear as a buoyancy term). We
shall also assume that the specific heat capacities and densities of medium and fluid are
the same, and that the temperatures are also equal (since any inhomogeneities at this
microscopic scale would quickly be removed by thermal diffusion). The temperature
field within the porous medium is then described by the advection-diffusion equation

oT
o Tu VT = kp V2T (3.16)

where k7 = k/pcy is the thermal diffusivity.

3.2.1 Linear instability calculation

We consider a porous layer of depth h heated to a uniform temperature Ty + AT at the
base and Ty at the top. At a heuristic level, we expect that for sufficiently small AT it
should be possible to maintain a static equilibrium: u = 0, /9t = 0. The heat equation
(3.16) then requires that V2T = 0 and so we have that

T, =Ty + AT(1 — z/h),

to satisfy the boundary conditions at z = 0 and z = h. This thermal profile induces a
density profile

ps = po[l = BAT(L - z/h)]

so that there must also be a hydrostatic pressure profile

ps =po — pog [z — BAT(z — 2%/2h)] .
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We now consider small perturbations to this initial state,
u=0+u, T=T,+T, p=ps+7p,
so that the equations of motion become
V-u =0,

!/

k R k R
u=— (VD' +p'gé,) = — (VD' = BpogT'e,)
and the linearized heat equation is

- VT, = kpVT = — —w'AT/h.
En +u s = KT 5 Y /
(Note that we are making use of the Boussinesq approximation in assuming that V - u’ =
0.)
We non-dimensionalize these equations by letting

(r,9,2) = h(X,Y,2), o="2u, t="1vr py=FTp 7 -ATO (3.17)
h KT k
so that we have
V-U=0, (3.18)
U=-VP +Ra0O égz, (3.19)
and
00 9
= _ = 2
5 W =V-0 (3.20)
where the Rayleigh number
ATkh
Ra — PP09ATER (3.21)
HRT

measures the buoyancy force relative to the dissipation (thermal and viscous).

We now need to analyse the system of equations (3.18)-(3.20). To simplify this, we
first take the curl of (3.19) since we are then freed from having to determine the pressure
perturbation P. Taking the curl again and using the result that VAV AU = —V?U
since U is incompressible, we have

V?U = Ra (—-Oxzéx — Oyzéy + V308z) , (3.22)

where V%, = 0% + 0% is the horizontal /planar Laplacian. In particular, by dotting with
éz we find that

VW = RaV%0, (3.23)
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Note that equations (3.20) and (3.23) constitute two equations for the unknowns W
and O and are to be solved subject to the boundary conditions

W=0 ©0=0 (3.24)

on Z = 0,1. Once these are determined we could, in principle, solve for the other
velocity components and the pressure.
To solve the problem (3.20), (3.23) and (3.24) we suppose a normal mode decompo-
sition
W =w(2) exp(at +ipX + qu), ©=v9(2) exp(at +ipX + qu).

We then have the eigenvalue problem

mﬂ—w—<d—2—a2>ﬂ (3.25)
- \dz2 ’ ’

d2
<m - a2> w = —Ra o9, (3.26)

where o = p? + ¢2, with boundary conditions
w(0) =w(1l) =9(0) =v(1) = 0. (3.27)
We see by inspection that a solution for the eigenvalue problem (3.25)-(3.26) is

m2m? + o?

w(Z) =sinmnZ, V(Z)= A sinmnZ (3.28)

for some integer m > 0 (to avoid the trivial solution). The growth rate

Ra o? 9 9 9
0= —F—5—5— M7 —« 3.29
m?m? + o2 (3:29)
Since o is real, instability is characterised by o > 0. We can see that o decreases as the
mode number m increases; therefore the value m = 1 gives the most unstable value of
o. Since o increases with Ra, we see that ¢ > 0 (for m = 1) if Ra > Ra.(«a), where
(71.2 + a2)2
Ra.(a) = ——— 3.30
(o) =" (3:30)
In turn, this value of the Rayleigh number depends on the selected value of a. Since
an arbitrary disturbance will excite all wave numbers in the X and Y directions, it is
the minimum value of Ra.(«) that determines the absolute threshold for stability. The
minimum of Ra.(«) is obtained when a = 7 so that

min Ra,(a) = Ra.(7) = 472 (3.31)

We therefore conclude that the static heated state is unstable if Ra > 472. The
detailed value of this instability threshold of course depends on the boundary conditions
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applied. However, the picture is qualitatively the same in these cases. The picture is
also qualitatively similar for the heating of a thin layer of viscous liquid between two
horizontal plates, although in this case the Rayleigh number becomes

AThH?
Ra = %, (3.32)
T

which is the same as (3.21) for porous media with the permeability &k replaced by the
square of the layer thickness, h?.

3.3 Double-diffusive convection

Double-diffusive convection refers to motion that is generated by buoyancy in the case
where the density depends on two substances or quantities. The simplest example occurs
when salt solutions are heated; in this case the two diffusing quantities are heat and salt.
Double-diffusive processes occur in sea water and in lakes, for example. Other simple
examples occur in multi-component fluids containing more than one dissolved species;
convection in magma chambers is one such.

The guiding principle behind double-diffusive convection is still that light fluid rises,
and convection occurs in the normal way (the direct mode) when the steady state is
statically unstable (i.e. when the density increases with height), but confounding factors
arise when, as is normally the case, the two substances diffuse at different rates. This is
a particularly important distinction when we are concerned with temperature and salt
for two reasons: (i) the ratio of thermal to solutal diffusivity is large and (ii) an increase
in temperature decreases the density while an increase in salt concentration increases
the density. The two species are therefore acting in different directions. In this case
different modes of convection occur near the statically neutral buoyancy state: the cells
can take the form of long thin “fingers” or the onset of convection can be oscillatory. In
practice, fingers are seen, but oscillations are not.

A further variant on the purely thermal convection discussed in §3.2 arises in the
form of convective layering. This is a long-lived transient form of convection, in which
separately convecting layers form, and is associated partly with the high diffusivity
ratio, and partly with the usual occurrence of no flux boundary conditions for diffusing
chemical species.

We pose a model for double-diffusive convection based on a density which is related
linearly to temperature 1" and salt composition C' in the form

p = poll — Br(T —Tp) + Bc(C — Co)l, (3.33)

where we take solutal and thermal expansion coefficients 8- and Br to be positive
constants but have built into the equation of state the fact that the presence of salt
makes the fluid heavier. In (3.33) Cj is the (imposed) concentration of salt at the top
of the layer, z = h.
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The equation that then needs to be added to the equations used for thermal convec-
tion previously is that for convective diffusion of salt:

aa—f +u-VC = ke V30, (3.34)

where k¢ is the solutal diffusion coefficient, assumed constant (although in practice it
may also depend on the temperature).

We shall assume that, in addition to the boundary condition C' = Cy+ AC at z = 0,
we have C = Cy at z = h. In the static situation then, we have temperature and
concentration fields

T, =To+ AT(1— z/h),

Oy = Cy+ AC(1 — 2/h)

to satisfy the boundary conditions at z = 0 and z = h. These thermal and solutal fields
induce a density profile

ps = po 1+ (BcAC — BrAT)(1 — z/h)]
so that there must also be a hydrostatic pressure profile
ps =0 — pog [z + (BcAC — BrAT)(z — 22 /2h)] .
We now consider small perturbations to this initial state,
u=0+u, T=T,+T, C=Cs+C", p=ps+7,
so that the equations of motion become

V-u =0,

k "
u' = o (VD' + pog(BeC’ — BrT")é,) .

The linearized equations for diffusion of heat and solute are, respectively,

/ /
88_1; + u/ . VTS = K/TVZT/ = 86—1; — ’U),AT/h

and ac" ac"
TR u - VC, = kcViC = T w' AC/h.

We non-dimensionalize these equations in the same way as in §3.2.1 using (3.17). In
addition we let
C' = ACYx

so that we have

V-U=0, (3.35)
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Rag
U=-VP+ <Ra o-— Li x> 8z, (3.36)
where
_ BopogACHh

Ras (3.37)

pkc

is the solutal Rayleigh number measuring the buoyancy force relative to the dissipation
(solutal and viscous) and

Le = L (3.38)

kC

is the Lewis number measuring the relative diffusivity of solute and heat. Note also that

Ra; =RaLe x N

where
N = giig (3.39)
We also have that
g—? - W =V?’0 (3.40)
and
Le (g—f — W) = V3. (3.41)

Proceeding in precisely the same way as in §3.2.1, we take the curl of (3.36) twice
and use incompressibility to show that

V2W =Ra (V}O — NV%x) (3.42)

with V% again denoting the horizontal Laplacian. Note that (3.40)-(3.42) is a system
of equations in the functions ©,y and W that is to be solved subject to the boundary
conditions

W=0=x=0 (3.43)

at Z =0,1.
By inspection, solutions satisfying the temperature and salinity equations are

W =sin(mnZ)exp (ot +ipX +iqY) (3.44)
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1

0= PR S sin(mnZ) exp (ot + ipX +1iqY’), (3.45)
L

X= - sin(mnZ) exp (ot + ipX +iqY), (3.46)

~ oLe + a2 +m2n?
where o = p? + ¢°.
We substitute the solutions (3.44)-(3.46) into the governing equation (3.42) to obtain
a quadratic in o, which can be written in the form

Ac* + Bo+C =0, (3.47)
where
A = (a? + m*n®)Le,
B = (a® + m?r?)? [1+Le] + o? (Ra;, — Ra Le),
and

C = (a® + m*7%)% + [Ras — Ra] o (a® + m*7?).

Instability occurs if either of the two roots of (3.47) has positive real part. Since Le
is a property of the fluid, we take it as fixed and study the effect of varying Ra and Ray
on the stability boundaries where Re(o) = 0. Firstly, if Ra < 0 and Ras > 0, then A,
B and C are all positive. From this it follows simply that Re(o) < 0 and we conclude
that when both temperature and salinity fields are stabilizing, the state of no motion is
linearly stable.

To find regions of instability in the (Ras, Ra) plane, it suffices to locate the curves
where Re(o) = 0. There are two possibilities:

Exchange of stability (Direct mode) One possibility is that Re(o) = 0 occurs
when o = 0. From (3.47), this is when C' = 0, or Ray = Ra — (a? + m?72)?/a?. For
each value of «, this is a single curve and since we know that Re(c) < 0 in Ra < 0 and
Rag > 0, this immediately tells us that a direct instability occurs if

(a® 4 72)?

——— = 4m?, (3.48)

Ra — Rag > min
(07

This direct transition is the counterpart of the onset of purely thermal convection (§3.2),
and shows that Ra — Ra, is the effective Rayleigh number.

Hopf bifurcation The other way in which Re(o) = 0 is for the complex conjugates
values of ¢ to cross the imaginary axis at +i€), say. The condition for this is B = 0 and
C > 0, which is again a single curve, so that oscillatory instability occurs for

(02 + m2r2)?

RaLe — Rag > 5 ) (1+ Le)
«

so that

Ra — Ra,/Le > 472(1 + 1/Le). (3.49)
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Oscillatory Instability

Monotonic Instability

Rag

Figure 3.2: Schematic stability diagram for double-diffusive convection with Le > 1.

Note that we also require C' > 0 to obtain this oscillatory instability and so

(a? + 72)?

Ra — Ra; < :

2

> =dr (3.50)
in the critical case. In physically relevant situations, it is usually the case that Le > 1.
The above condition therefore means that the oscillatory instability cannot be seen for
the same regions of parameter space as the monotonic instability. Instead the oscillatory
instability is seen in regimes of parameter space that the exchange of stabilities calcu-
lations would have predicted would be stable. Figure 3.2 shows schematically (Ras, Ra)
parameter space and where we expect the various types of instability to occur.

A more detailed picture and discussion of the geophysical relevance of this scenario
can be found J. S. Turner, Buoyancy Effects in Fluids, CUP. There it is noted that
the observation of oscillatory instability is generally rare. Furthermore, a characteristic
feature of ‘double-diffusive’ convection is that the monotonic instability develops into
finger-like structures. An example of this is shown in figure 3.3 for the case of a pure ice
block melting in salty water. The fact that these fingers propagate roughly horizontally
(rather than the melt water rushing upwards without mixing, as one might expect) is
one reason why the idea of supplying fresh water to dry countries by towing icebergs
and siphoning off the melt water is not feasible! See Huppert and Turner, Nature 271,
46 (1978) for more discussion.

3.4 Horizontal gravity-driven flows

Variations in buoyancy usually give rise to vertical flows, as studied in the last section
of thermal convection. However, as we saw with droplet spreading in §2.2.3 the presence
of an impermeable boundary allows vertical density differences to drive horizontal flows.
Here we shall consider the problem of a finite volume V of fluid with density p released
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Fig. 2 Shadowgraph photograph showing the tilted layers and

interfaces produced by inserting a block of ice into salt-stratified

waler at room temperature. (Specific gravity at top of tank 1.00,
and at bottom 1.05; depth 26 cm.)

Figure 3.3: Experimental observation of the formation of double-diffusive fingers caused
by melting of an ice block in salty water (with salt stratification). Taken from Huppert
and Turner, Nature 271, 46 (1978).

above an impermeable boundary within a porous medium. This is the porous medium
analogue of the droplet spreading problem considered in §2.2.3 neglecting the effect of
surface tension, which is an extremely complicated problem for flow in porous media.

3.4.1 Long, thin flows

We begin by considering the scaling behaviour of Darcy’s law for an axisymmetric flow
with typical vertical scale H and radial scale R such that 6 = H/R < 1. The ve-
locity within the porous medium u = (u,w) has typical scales u ~ U, w ~ W where
conservation of mass tells us that
w 1
— ~—= X RU = W ~U.
H R?
Considering the horizontal component of Darcy’s law we have that
Ip 7 P
— =—>u = P~ =RU
or k k
where P is the typical scale for pressure. Looking at the terms that appear in the vertical
component of Darcy’s law we notice that

uWik — uW/k uoU /k

~ N52 1.
opjoz "~ p/E "~ prukE "0 S

The vertical component of Darcy’s law therefore gives that

p
5, ~ P9 (3.51)
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so that the pressure is approximately hydrostatic, just as we found for lubrication theory
in §2.2. While the idea presented here as well as the result are very similar to what we
saw in lubrication theory, purists prefer to talk of the approximation made here as a
‘long wavelength approximation’ (rather than the lubrication approximation).

3.4.2 Porous medium gravity currents

For simplicity, we shall consider the problem of a blob of fluid of density p, volume V'
released within a porous medium bounded below by an impermeable boundary. Just as
for a droplet released on a flat plate in the absence of a porous medium, we anticipate
that the liquid will spread out horizontally along the boundary and will at late times
satisfy the long wavelength assumption made above. We would like to calculate the
evolution of the current profile z = h(r,t) at late times and, in particular, the radial
extent of the current, a(¢). To do this, we begin with (3.51), which may be integrated
once to give

p = pa + pg[h(rt) — 2] (3.52)

where p, is the atmospheric pressure within the porous medium. Examining now the
horizontal component of Darcy’s law, we find that the horizontal velocity component is

_ ko _ kpgOh
T N (3.53)

We note that this horizontal velocity is independent of z and so 4 = u. Being careful to
incorporate the porosity ¢ into the equation of conservation of mass, we have that local
continuity gives

L0y D (2) 50

o~ o= e My

The nonlinear diffusion equation (3.54) is to be solved together with the global conser-
vation of mass, which may be written

a(t)
V= 27T<;5/ rh dr. (3.55)
0

We non-dimensionalize (3.54)-(3.55) by introducing the length scale (V/¢)/? and time
scale (¢2V)/31/kpg. We must then solve

OH 1 0 <RH8H> (3.56)

T — ROR 9R
subject to

A(T)
o / RH dR =1 (3.57)
0
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and H(A(T),T) = 0. We would like to find the long time behaviour of the system
(3.56)-(3.57) and so look for a similarity solution. Examining the scaling behaviour of
these equations, we let

H(R’ T) = Tﬁl/QX(n)’ R= 77T1/4’ A(T) = 77NT1/4

and find that (3.56) becomes

1 gy X 1A () dx

which may be integrated once to give

dx
nx = —477Xd— +C.
n

As 71 — 0 we expect x and X, to be well behaved so that the constant of integration

C = 0. Integrating once again, we find that

x=- ¥k —7%

| =

where the constant of integration has been chosen to ensure that x(ny) = 0.
The value of 7y, which determines the spread of the current, is itself determined
from the similarity form of (3.57), which reads

nN T
1=2 dn = —n%.
ﬂ/o nx dn =Ty

Hence ny =2/ 71/4 and the radius of the current for late times 7' > 1 is given by
2

We have assumed in this calculation that the porous medium is initially dry. In
reality would have to worry about surface tension etc. However, many flows of interest
involve injecting a fluid of one density into a porous medium saturated with a liquid
of close but not identical density. This may substantially alleviate the problems caused
by surface tension at the pore scale. If, in addition, the porous medium is effectively
unbounded then the flow outside the current may be neglected and the analysis above
may be carried through with the density p replaced by the density difference Ap. It is
more common in such scenarios that injection will continue indefinitely so that V ot
rather than being constant. In this case r ~ t!/2 (see problem sheet) — a result that
is useful in predicting the rate of spreading of carbon dioxide when it is pumped into
geological aquifers to mitigate the effects of climate change. More details of this topical
application can be found in M. Bickle et al., Farth Planet. Sci. Lett. 255, 164 (2007).
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4 Two-phase Flows

This chapter is largely based on the review paper by Drew [1], and the books by
Drew & Passman [2] and Fowler [3].

4.1 What is two-phase flow?

Two-phase (multi-phase) flow occurs when two (or more) phases flow simultaneously.
The two phases could be liquid /liquid, liquid /gas, liquid/solid, etc. Obviously one phase
must be fluid for flow to occur.
Some examples

liquid/liquid  oil/water, e.g. in oil extraction, emulsions, alloys

liquid/gas boilers/condensers/cooling systems, aerosols, magma, e.g.
in volcanoes, champagne, food, e.g. bread, ice-cream

fluid /solid particle suspensions, fluidised beds, sedimentation,
avalanches

poroelasticity  tissue/tumours/paper/oil extraction
We will only consider one-dimensional flow, typically flow of liquid and gas in a pipe.
It is observed experimentally that such flow can exist in many different flow regimes,
including bubbly flow, slug flow, churn flow, annular flow. The conditions under which
each regime takes place are determined experimentally and described using flow-regime
maps, see e.g. Fig. 16.2 in Fowler’s book [3].

4.2 A simple model

It does not make sense to try and track the complicated free boundary between the two
phases. Instead we describe the flow using averaged quantities, namely the gas fraction
«, the averaged velocities v of the gas and w of the liquid, and the averaged pressure P
(for the moment just consider incompressible, isothermal flow; otherwise we must also
consider the temperatures T, and 7; and the densities pg and p;). Consider flow in a pipe
of cross-sectional area A aligned parallel to the z-axis. Define the gas fraction na(z,t)
as the fraction of the cross-sectional area occupied by gas,

area occupied by gas
I .

o =
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Figure 4.1: Pipe segment

Thus the liquid fraction is 1 — .

Conservation of gas

The mass of gas in a segment of pipe between x = a and z = b is

b
/ Aapg dx.

Rate of change of mass = flux in — flux out.

Then

d [* .
&/a pgAadr = [pgAav]y

where v = cross-sectional average of the gas velocity. Thus

/bﬁ( Aa) + 2 (5, Aaw) dz = 0
aatpgoz 5, (PeAav) dz =0.

Since a and b are arbitrary, the integrand must be identically zero. If we assume the
gas is incompressible (so that p, is constant) and that A is constant, then

Jac 0
o + 7 (aw) = 0. (4.1)

Similarly, conservation of mass in the liquid gives

0 0
(1 — @)+ 5 ((1-aju) =0, (42)

where u = cross-sectional average of the liquid velocity.

Conservation of momentum

Suppose liquid and gas both satisfy the one-dimensional FEuler equations

ov ov Op

Pg <E + U@) = —%, (43)
ou ou B Op

Pl (E + U&) = T (4.4)

where we assume that the average pressure p is the same in both phases. We have
also neglected any drag (both between the phases and due to the pipe). We have thus
obtained four equations for the four unknowns «, u, v, and p.
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Typical boundary conditions

For example, we pump in gas and fluid at a given rate at one end (x = 0, say), while
the other end (z = L, say) is open to the atmosphere: thus volume fraction and fluxes
given at x = 0, pressure given at x = L.

a=ay, av=qg (I-—0)u=gq, at x =0,

= at x = L.

Characteristics

Write the system in the form

A’(rbt + B’l/Jm = Oa
where ¥ = (a,u,v,p)’. Then
1 0 0 O o} v 0 a 0 o
-1 0 0 O u I (I1-a) 0 O u
0 0 pg O v 0 0 pgv 1 v
0 p 0 O p/, 0 JOR 0 1 P/,
A B

The characteristics are given by dx/dt = X where det(B — \A) = 0.

v — A 0 « 0
_ | —w=-X) (1-«w) 0 0
B=Ad= 0 0 pg(v—2A) 1
0 pr(u—A) 0 1
Thus
det(B — MA) = pg(1 — o) (v — )\)2 + pra(u — )\)2 =0.
Let

oo Pr9(l—a)
piox

u—Axis(v—2A) =0,

(Typically s < 1). Then

ie.
utisv  u+s*vtis(v—u)

1+is 1+ s2

[The other two characteristics are dx/dt = oo, i.e. t = constant. One is the first integral

A=

0
a—x(ow—i—(l —a)u) = 0.

We can also eliminate p using

pg (v + vv) = py (u + uuy)
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and then find p a posteriori using

% = —Pg (ve 4+ vvg) .

So (unless u = v) the system is elliptic, and not hyperbolic as we would have expected.
Problems that are elliptic in space and time are ill-posed, in the sense of being catas-
trophically unstable—arbitrarily small wavelengths can grow arbitrarily quickly.

An ill-posed system of equations is mathematically unacceptable. It tells us that
something is wrong with the model. One possibility is to include previously neglected
physical effects, e.g. surface tension or viscosity. Both of these can help to oppose the
instability.

In any case we need to average more carefully.

More careful averaging

Net gas mass in the segment from x =a to x = b is

b
/(// pgdydz> dz.
a gas
aA:// dy dz.
gas

1
Pg = —F / / pgdydz = cross sectional average of gas density.
aA gas

Recall that

Define the average density as

Then the net gas mass in the segment from x = a to x = b is

b
/ pgaAdz.

The net gas flux through = = a (say) is

// pgv dydz
gas

Define the average gas velocity by

=,/
V= —— pevdydz.
aApg gas g

Then the net gas flux is aAp v. Conservation of gas leads to

r=a

d b _ b
T ’ aAp,dx + [ozA,ogv}a =0.
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When A is constant an argument similar to that used before leads to

0, _ 9, _ _
En (a,og) + I (apgv) =0.

This is what we got before, but now we have careful definitions of the average density
and velocity.
Similarly for the liquid we have the definitions

(1-a)A = // dydz,
liquid
= e [
L= T prdydz,
: (1—0[)14 liquid

i
u = — prudy dz,
(1 —a)Ap, liquid

so that 5 5
— (1= a)p) + 5= (1 - a)pm) = 0.

Now consider conservation of momentum. The net momentum of the gas in the segmet

[a, b] is
b b
/ <// pgvdydz> dm:/ aApgvde.
a gas a

The flux of momentum through x = a (say) is

// pgv2 dydz := aAﬁgW
gas

The net pressure force on x = a exerted on the gas phase is

// pgdydz := aAp,.
gas

Also suppose there is a horizontal force My per unit length in the segment (e.g. wall
friction etc.) so that Newton’s second law reads

r=a

d b _ b b
T aApvdr = — [aAﬁgUQ]a - [aAg_)g]Z + [ Mgdz.

Combining everything together, we get

o, _ _ 0 [/ _ — M, 0 , _
5 (0B5) + 5 (07,07) = = = 5 (o7,).

This is almost the same as what we had previously. If we suppose that “the average of
the square = the square of the average”, i.e. v2 =72, then

b

d b
a ) aApvde = — [adp,0?]" — [aAp,]” + /a M, dz,
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Figure 4.2: Annular flow in a circular pipe

which, on using conservation of mass, can be written as

S (9T 00 _%_3(—)
oot "Vox) T A oz \ P/

This still isn’t quite the same: if we negkect the external force M, the right-hand side
has « inside the z-derivative—this suggests that if p, is constant a gradient in « could
drive a flow which seems highly unlikely.

The resolution is to examine M, more carefully. To fix ideas consider annular flow
in a circular pipe of radius R (so that A = mR?) with the gas-liquid interface given by
r = n(x,t) (so aA = m?). We see that the interfacial gas pressure py; contributes a
horizontal component of force whenever 9n/dz # 0.

The net horizontal force due to the interfacial pressure is

b b b da
/ Pgi2mnsinfds = / Dgi2mnn, dx = / PgiA——dx.
a a a a‘r
It can be shown that this holds for any two-phase flow, not just when the geometry
is annular. We define

e ,

Mg = Apm% —|— Mg’
where pgy; is the interfacially-averaged pressure, so that M; contains all the horizontal
forces not due to pressure, e.g. drag due to the fluid and/or the tube wall. Hence we

have v 5

o, _ _ 0 [/ _ — g Py _ O«

ot (0p,7) + o <apgv2> ~ 4 “or + (pgi — pg)%-
If we assume that the interfacially-averaged and bulk-averaged pressures are equal (as
is usually the case), then we get

0

— M! op
5 (ap,7) + 9 <aﬁ902) _ 9 _ P

ox A oz’

which does indeed reduce to our previous equation if we set v2 = 72 and Mg’v = 0.
Similarly for the liquid we get

O (- + o (- ) = S - - 2L

Usually p, = p; = p, although we could put surface tension in here.
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In general, we will have v2
a “plug flow”. This is probably true if the gas, which is effectively inviscid, but probably
not in the liquid, which may have a non-trivial flow profile. We are confronted with a
closure problem: our model for a, %, v and p also involves u2 and v2 If we tried to derive
equations for these, we would find they involve yet higher “moments”, eg. u3, u?, ...,
and it is impossible ever to obtain a closed model. We therefore have to make some
empirical constitutive “closure” assumptions, and there are two main options: Profile
coefficients and Reynolds stresses.

= 2 only if v is uniform in the cross-section, i.e. we have

4.2.6 Profile coefficients and Reynolds stresses

Suppose there exist profile coefficients Dy, D; > 1 such that 02 = Dg@2 and w2 = Dyu?.
These coefficients depend on the Reynolds numbers in each phase and on the flow regime,
and are usually close to one (particularly Dy ~ 1).

Let’s investigate what happens if we include a D; > 1 profile coefficient in the
momentum balance for the liquid phase. This means that (4.4) is replaced by

pil(L = a)ul; + D1 — )], = —(1 — Qs (4.5)

with a profile coefficient D; that is not equal. The liquid and gas phase densities are
assumed to be constant as before. The new momentum equation can also be written as

o [(1 = a)ug + (2D — 1)(1 — @)uug — (D — 1)u20zx} =—(1—-a)p,. (4.6)

The matrices A and B are now

1 0 0 0
S
0 (I-a)y 0 O
v 0 o 0
p=| T

_(Dl — 1)plu2 Pl(le - 1)(1 - a)u 0 11—«

The characteristic speed A now satisfies (with s defined as before)

(A —u)? = (D — D)[u? + 2u(\ — u)] — s*(A —v)2. (4.7)
ot 2 2 .2,2
)\2_2(Dlu+sv))\ Dyu® + s*v _o. (4.8)
1+ s2 1+ s2
This quadratic equation has real roots iff
Dyu + s?v 2 Diu? + s%0? (4.9)
1+ s2 14 s2 '
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For small § = D; — 1 and s, this becomes
Dy —1> s*(u—v)*/u?, (4.10)

which means that in practice a very small value of D; —1 > 0 is sufficient to remove this
ill-posedness issue.

Reynolds stresses arise in turbulent flows, where significant velocity fluctuations
arise around the mean flow. Let v = ¥ + v/, so that v/ = 0, and v’ represents velocity
fluctuations about the mean. Then

2 =72 02
So we get
o, ___ a , 5 0 o — op, M)
En (aipgv) + e (apgv ) + 92 <Ongv’2) = _O‘a_xg + 79_

Now the term @W represents the average stress caused by the velocity fluctuations,
and the Reynolds stress is defined by

Re _ _— 12
Ty = —pgv’.

A similar term can also arise for the liquid phase. We still have closure problem, i.e. we

have to postulate a constitutive law for TgRe. Fowler [3] suggests setting the Reynolds

. —2 . . . . .
stress proportional to ap,v’”, which effectively means introducing a profile coefficient.
Alternatively, one can introduce eddy viscosities, in which case we let

v ou
R R
Tge:Kg%7 T e:Kl%.
These eddy viscosities K, and K; can be very large in turbulent flows, many orders of
magnitude larger than the molecular viscosity of the fluid.

4.2.7 Full equations for annular flow

The equations for flow with two incompressible phases (and equal pressures) are given

by

%—(Z + %(av) =0, (4.11a)

—g—(j + %((1 — a)u) =0, (4.11b)

Py [%(av) + D, (owQ)] =y %5, (4.11c)
|-+ Dl (=) =—0- 2+ 2 )

We assume Dy = 1 and D; > 1 (but not much) and constant. We also need constitutive
relations for the drag forces exerted on each phase. The form of these depends critically
on the flow regime.



C5.7 Topics in Fluid Mechanics 4-9

Figure 4.3: Sketch of annular flow in a pipe.

For the moment consider annular flow in a gas core. Then we can write
M; = —Fy, (drag on gas due to liquid)
M| = —Fy — F, (drag on liuquid due to gas and wall)

where Fy = —Fj,.
Now we pose empirical forms for each drag force: For turbulent flow,

Fry = flwcpplu|u|, (412)

where ¢, = circumference of a pipe, e.g. ¢, = 27 R for a circular pipe, and f,, is a
dimensionless friction factor. This friction factor is a function of the Reynolds number
but is approximately constant and < 1. Similarly,

Fgl = _Eg = fglcipg(v - u)|v - u|a (413)

where fg; is a dimensionless factor that is a again roughly constant and < 1, and Cj is
the interface circumference. For axisymmetric annular flow, C; = 27 R/

4.2.8 Compressible bubbly flow

Figure 4.4: Sketch of compressible bubbly flow in a pipe.

We consider now bubbly flow in a vertical pipe, where the gas in the bubbles is

treated as compressible and the liquid as incompressible, and include gravity in M, ; and
M.
l

(apg)t + (apgv)z =0 (4.14a)

—a+ (1 —a)u), =0 (4.14Db)

apg(ve + vvy) = —apy — apgg — %, (4.14c¢)

o [(1 = a)u)e + Di((1 — a)u?),] = —(1 — a)py — (1 — a)prg + %, (4.144d)
p=Plpy). (4140

where we assume constant profile coefficients D, = 1 and D; greater or equal to, but
close to, one. In the last equation, we have assumed a barotropic gas, where P is a
function of p, that needs to be specified, e.g. the ideal gas law P = c%p,, where c is the
speed of sound.
For the drag term, we can start from an expressio for the drag term on a single
bubble,
Cpma?py(v —u)|v — ul, (4.15)
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where a is the radius of the bubble, and Cp is a drag coefficient. If we n is the number
of bubbles per unit volume, then n times the expression in (4.15) gives the total drag.
The number of bubbles per volume is related to the gas volume fraction via
4
o = —nma’.

3

Using this to eliminate n gives the total drag

Fy  3Cppa
g

—— = —W—-u)jv—u 4.16a

ol SEDO () )y~ uf (4160)
However, this expression still contains a, which is not a parameter but a variable that
depends on the gas density and may change, since the gas is assumed to be compressible.
However, it can easily be expressed in terms of p, via mass conservation if we introduce
a reference value for p and ag, since then pa® = pyag, thus

PO 13
a=ay|— . (4.16b)

4.2.9 One fluid models

The models in sections 4.2.7 and 4.2.8 are examples of two-fluid models, where each
phase is represented by an individual velocity field. This is contrasted with one-fluid
models, of which the homogeneous model is a specific case. Here, it is assumed that
both phases have the same velocity, 4 = v, and one considers momentum conservation
for the mixture, which is, in the simplest form

pr+ (pu)e =0, (4.17a)
p(up + uuy) = —py, (4.17b)

where p = apy + (1 — «)p; is the mixture density.
Another type of one-fluid model are drift-flux models, which do allow for a relative
motion, but only formulate one momentum balance equation for the total momentum,

Qapgv — a)puli + [apgv —a)pu’ly = —pg.
[apgv + (1 — a)puls + [apgv® + (1 — ) pu?]

Instead of a second momentum equation, v — u is specified throught a constitutive law
in terms of a. A model of this type will be discussed on the problem sheet. Drift-
flux models are typically useful when there is little relative motion between the phases.
In contrast, for annular pipe flow, where the gas flows along the core while the liquid
occupies a layer adjacent to the pipe walls, the shear stress exchange between the two
phases is diminished and the flow velocities may be high and quite different for the two
phases, so that frequently two-fluid models are more appropriate.



C5.7 Topics in Fluid Mechanics 4-11

4.3 Derivation of general (3D) averaged model equations

Microscopic governing equations

Consider a two-phase or two-component fluid, e.g. two different liquids, a liquid and a
gas, or even a solid in a gas as long as the combination behaves fluid-like, eg. a dusty
gas. We assume that the two phases occupy different, possibly very complicated shaped,
regions in space, so that each point in space is occupied by exactly one of the phases
unless the point happens to be exactly on the interface between two phases. We assume
that we can describe the fluid by a density field p(x,t) and a velocity vield u(x,t).
Away from the interface between the two phases, these obey the balance equations for
mass and momentum,

dp
% 49 (pu) =0, (4.18)
O () + V- (puw) =~V (op) + V- (p7) + pg, (4.19)

ot
respectively. Here, pg represents gravity, but can be replaced by any other body force.
Notice also that we have split the total stress tensor into a pressure contribution and

the extra stress tensor. We can frequently treat these two (and other) balance equations
together by using the general form

O (o) + V- (pvw) =~V T+ pf, (120)

with either v» = 1, J = 0, f = 0 for the mass balance equation and ¥ = u, J = pIl — T,
f = g, for the momentum equation.

At the interfaces, we have jump conditions. To formulate them, we label the two
phases as “1” or “2”. Then, the jump conditions are

[o(w — ;) - ]}, = 0, (4.21)
= YTy, (4.22)

3
Z

[pu(u —u;) -ng — (pI — 1) -

for mass and momentum, respectively, where u; is the velocity of a point x; on the
interface. Here, k # [ and [1#]2, the jump of a quantity 1 across the interface from phase
k to phase [,

W= lim ¢— lim v,
I, r-T;
I Ephase [ I ephase k
where x; is a point on the interface, and finally n; denotes the normal at the interface
pointing out of phase k. Thus, n; = —ny. The quantities v and k are the surface
tension and the curvature of the interface (positive (concave) towards —mny). These

jump conditions, too, can be written in a general form as
[pU(u —w;) -y, — J -]l = my, (4.23)

where m,;, are the interfacial source terms for the quantity 1.
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Profile function

The derivation of the averaged equations is carried out in two steps: First, we split the
balance law into to field equations for each phase with the help of a profile function,

1 if z € phase k,
Xk(@,1) = { (4.24)

0 otherwise.

k=1, 2, and then, in a second step, we perform the actual averaging.
For the first step, we multiply the general form of the balance law with xx, k =1, 2,

)
Xk&(m/}) +xxV - (pYu) = —xi&'V - J + xepf.

We would like to rearrange this equation so that the derivatives are taken of products
of the profile function with 1, etc., since then the subsequent averaging will lead to
averaged quantities associated with one of the two components. For this purpose, we
need some kind of rule how to differentiate products of x; with other functions.

Since the profile function is discontinuous, its derivatives are defined ins the sense of
generalised functions i.e. in the distributional sense, e.g.,

Ox(=,t) _ 99(x,t)
/ng(fcat)Tdth:—/S)Tx(:c,t)dth,
/gb(m,t)Vx(ac,t)dthE—/ Vo(x,t)x(z,t)dVdt,
Q Q

for any ¢ € ®, where (Q is a set in space and time, and @ is the set of all test functions,
that is, functions that have derivatives to all orders and compact support that lies in
0l

The expression V(xf), where f may also have jumps across the interface between
the phases but is smooth (sufficiently differentiable) elsewhere, is defined analogously,

/qS(ac,t)V(Xk(ac,t)f(a:,t))dth —/qu(;c,t)Xk(ac,t)f(;c,t)dth
Q Q

=— Vo(x,t)f(x,t)dVdt
Qp

= qﬁ(:c,t)Vf(:c,t)dth—/ npd(x, t) fri(x, t)dSdt
o S

:/QqS(ac,t)Xk(ac,t)Vf(;c,t)dth
—/an(b(a:,t)fki(:c,t)ék(a:)dth, (4.25)

!The concept of distributions and the terminology that goes along with it was introduced in earlier
courses, for example, in B5a: “Techniques of Applied Mathematics”.
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where Sy, = 0, denotes the interface between the phases, dx(x) denotes the §-function
for the interface, and fi; denotes the value of the function f evaluate on the phase k
side of the interface.

Thus we have

V(xef) = xkVf+ fridr(@)mg. (4.26)

Using that Vi, = 0x(x)ny (to be verified as as an exercise on the problem sheet), we
can also write this as

Vxef) = xkVf+ ki VX (4.27)

We note that the first term on the right hand side, xxV f, is a bit ambigous if f
does have a jump across Si. From the last step in the derivation (4.25), this product
is taken to mean the classical derivative of f inside 2. However, it could also be read
as a product of the jump function xj; with a generalised function V f that contains a
d-function at the interface, and it is not clear what a product of a jump function and
a 0-function centred at the location of the jump means. To remove the ambiguity, we
will always assume the product xV f to mean “take the classical derivative of V f on the
region where xr = 1, and set the result to zero for all other points”. Notice that it is
not clear if this can be generalised to products of other jump functions with é-functions,
such as fVy.

In a similar fashion, we obtain

o) _of Oxk
a(ka) = Xk, + flmﬁ, (4.28)

and also the topological equation,

0
Xk 4 i - Vg = 0. (4.29)
ot
The derivation of these last two equations is left as an exercise (see problem sheet).
With this background information, we can manipulate the result of multiplying the

general balance equation (4.20) with x to give

0 0
g (xkpY) +V - (xeppu) = =V (X ) + xkpf + pritoei {% + u; - VXk]
-0
+ [Pritri (Wi — wi) + Jkil - Vxg. (4.30)

The jump conditions (4.23) are recast in distributional form as

(prithis (wyy — wi) — J15) - Vxg + (preithri(wri — w;) — Jii) - Vg = —mydp(x).  (4.31)

Notice that this relation couples the last term on the right hand side of (4.30)
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Averaging

The actual averaging removes the discontinuities at the microscale and provides averaged
version to the different terms in the balance equation (4.30). Different types of averaging
are given in the literature: Averaging in space, time, cross-sectional averaging, and
ensemble averaging. We will use the last one.

For this purpose, all fields in (4.30) and the profile functions are assumed to depend
on an additional parameter u, e.g. u(x,t) = u(x,t;p). This parameter describes a
particular realisation of an ensemble £ of possible realisations. Mathematically, £ is a
Borel set, that is it contains all open sets and is closed under certain basic set operations
(intersection of two sets, union of a countable number of sets, and forming the comple-
ment of a set). We also assume that a probability measure is defined on this ensemble,
that is a function m : & — [0, 1] which satisfies m()) = 0, m(€) = 1, monotonicity and
additivity. We will only use the most basic and intuitiv properties of these concepts, so
we will leave it at this superficial account. More details can be found in the book by
Drew and Passman [2], section 9.

The basic average of a quantity f = f(x,t;u) is then defined via

flw.t)= [ £t pyim(p). (4.32)
It is straightforward to verify the following rules:
afi+cafe=cfi+cef, (4.33)
fif2 = fifa, (4.34)
af _of
% B (4.35)
Vf=Vf, (4.36)

where f, f1, fo are functions of x, ¢t and depend on pu, and ¢; and ¢; are constants.
Averaging (4.27) and (4.28) and using these rules gives

Vxef) = xeVf+ fkiVxe, (4.37)
o — 0 0
50 f) = cha—‘iC + fm‘%- (4.38)

Taking the average of the entire equation (4.30) and using these rules, we obtain

o .
e XkPY + Vo xkepu = =V g + xepf + [priVri(uri — i) + il - V. (4.39)
Mass balance equation. From this point onwards it is useful to discuss the balance
equations for mass and momentum separately. For mass conservation, we define the
averaged phase volume,density, velocity and mass source at the interface as, respectively,

ar =Xk Pk = XEP Ok, UR = XEPW/ 0Pk, Tk = pri (e —ug) - Vxg.  (4.40)
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Notice the difference in denominators for p; and wg, which imply that these two fields
are defined by different types of averages. With these definitions, mass conservation is
obtained by letting v =1, J =0, f =0 in (4.39), to get

0
¢ (kPr) + V- (awprta) = . (4.41)
The jump condition (4.31) yields a constraint on the averaged mass sources

Momentum balance equation. For momentum conservation, ¢ = u, J = pI — T,
f =g, thus

a -
57 XbPU + V -xwpuw =V - xp(—pI +7) + Xipg

+ [pritri(ur; — i) + (P — Thi)] - Vi (4.43)

We first deal with the quadratic inertial term on the left hand side. Since we cannot
replace the average of the quadratic terms by the square of the averages, or similar, we
split w = uy, + u}, and then obtain

NEPUU = QUi + XipPUj W) (4.44)

The last term is typically interpreted as the averaged Reynolds stress. Inserting this
and rearranging gives

0
aakpkuk + V- (akpkukuk) =V. [Oék(Tk + TZ,)] + apprg + My + ’U,ZZL-P]Q, (4.45)

where

Ty = xk(—pl +7)/ox = —pid + T, (4.46a)
T}, = —apruu, /oy, (4.46Db)
My = (pril — i) - Vixa, (4.46¢)
up; = [pritri (W — i) - VX /[Pki(uki —w;) - Vil , (4.46d)
Pr = XD/, (4.46¢)
Th = XkT /- (4.46f)

We furthermore split M, into two contributions,
M, = p;;Vag + M, (4.47a)

8= (0= Pr)VXk = T VX, (4.47b)



4-16  OCIAM Mathematical Institute University of Oxford

where py, is the interface average of py;, that is, p,’;i|Vozk|2 = pr VXi - Vag. Moreover,
we have used Vxi = VX, = Vay. This results in

a *
o kPR V - (arprurur) = —o.Vpr, — (pr — pp;) Vo + V- (arT)
+ V- (oT}) + cawprg + M), + uiTy. (4.48)

Note that as in the 1D derivations, it is often assumed that the bulk and interface
averaged pressure are equal, py = py,.
The jump conditions yield

uﬁ’Tl +M/1 —i—pfiVal —i—ugﬂ“g +M’2+p§iVa2 =M,,, (4.49)

)

where M,, are the averaged interfacial source terms, that is, the averaged effect of
surface tension.



Appendix A

2D Curvature

Important The normal, n, is defined off surface by enforcing that it is independent of
the direction perpendicular to the surface. As you will determine on the example sheet,
this implies that

d _h/ h//
vn:ﬁ(W) YRR

Without loss of generality the x coordinate of the point P is zero. Let

e () be the centre of the best fit circle, of radius a to be determined
e S lie on the circle, and angle ¢ from PQ.
e W lie on the curve z = h(x) with the same x coordinate as S
e hg, hy, hy respectively denote h(0), &’(0) and " (0).
e p.q,s,w denote the position vectors of P,Q,S, W
e ng, ty denote the unit tangent and unit normal vectors at P.
e a be radius of the best fit circle; thus 1/a is the magnitude of the curvature.
We have
p = (0,ho)
qQ = p+tang
s = q+a(sinyty —cosymng) = (0, hy) + a(l — cosy)ng + asin Pty

We require, for small x, that s, w agree to O(z?) (and hence O(1)?)). We have
s = (0,hg) + a(l —costp)ng + asinty = (0, hg) + av’ng/2 + avity + . ..
w = (z,h(z)) = (0,ho) + (z,xh} + 2°hy /2 + ...)
Thus we fix the circle radius a so that

K T __ ! VY
a1/1<1’h0+xh0/2)_ 2n0+t0_(1+h62)1/2<1 9 0> O+2 )

4-17
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on neglecting higher orders, i.e. terms that would not contribute to the expansion of s
and w up to order O(x?), O(x?). Comparing the first coefficient gives

x 1—hj/2 1

ap (L+ )2 (14 h)'/2

Comparing the second coefficient on use of the above gives

hy+¢/2  1—hw/2 [, hyf = _l=hgp/2 [, hy 1
: Lo 5 ()] = g 14 3 g o0

arp

(1+h@)/2 (14 hP)/2

Hence, on neglecting higher orders,

/ _ (1 _ /f r 1 a¢h,0, YR 12 ahg 2
0—|—¢/2—<1 h02><0+27(1+h62)1/2 —h0+2 hq +(1+h£)2)1/2 +OW*).

Terms at O(y°) automatically agree, while the next term, at O(x)), requires

1
ahy

1= —h,2 T o159
oty he )1/

ie. .
a (1 +h/02)3/2'
Thus the magnitude of the curvature at P is given by

1 he
a rngpr

More generally, the magnitude of the curvature at the point z is given by

| = 19

and the curvature, k, is defined by
k=-=V . n.

Thus the curvature is positive if the centre of curvature lies above the surface and
negative if it is below (with the contrast between above and below determined by the
direction of the unit normal).
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